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PART -1/ ¥IFT - 1

CHILD DEVELOPMENT AND PEDAGOGY / 911 fas1 9 Riemem=

Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options.

A& : frefafiaa g9 (7. 9@ 1 @ 30) 3 ST &7 & 1070 Qe/qad 39ga [aeheyq giagi

1.

How does setting mastery goals impact a student’s motivation and views of ability ?

(1) It often implies enhanced extrinsic motivation and belief in the incremental view of ability.
(2) It often implies enhanced intrinsic motivation and belief in the entity view of ability.
(3) It often implies enhanced intrinsic motivation and belief in the incremental view of ability.
(4) It often implies enhanced extrinsic motivation and belief in the entity view of ability.

HENA B L o @& FHiRa 1 | 1 & SAHon iR A & o) § foram 4 gifed 8 € 2

(1) % TR IFIal & glgial gfeeenivl H 9¢ g8 ared U iR foward =i <wian 7|
(2) TT TR Il & FeeR gfieion # 9t g2 oviafian AMIRon iR favema =i <wiar €1
(3) I% STHR ArIal % grgEier gheswon # we g8 stiafies s1fdron 3R favara =i gwiar § 1
(4) I8 TR IrAa o Feer gfteenior § 9@ g8 aedt SAfRon iR foavam =1 @i g1

Inclusive classrooms :

(I) Aim to remove all kinds of differences among the children.

(2) Recognize that every child will learn at the same rate and at the same time.
(3) Is an educational program offered to cater to the needs of “special children’.
(4) Are meant to offer differentiated instructions as per individual differences.

THISS FHee

(1) ==di & " & e it fafir=ar &1 T FH a1 ded W@dt |

(2) I TEATA 16T fof T o= Tk & X 9 IR T & 999 § Hiem |

(3) H ‘o S=di’ it STEXA! Bl U B h foTT Tk ST Afeash wIAsHH U9 fohan S 1
(4)  eTer-3rer fErarel & R fadfea fdw fow m €|

A key commonality in Piaget and Vygotsky’s theories is :
(1

) The role of culture in the cognitive processes.

(2) Their views of relationship between language and thought.
)
)

(

3
4 Involvement and engagement of children in their own learning.

s &R amreen! o fagidl § T TE 9 ©
(1) GIHcH gfshaeti § S&ha sl fieh |

(2) 9T SR fa=R & ot HeEi % aR § Ik fead |
(3) =i o faehrd H SRO-SIE T R 1 |

(4) T i = HI e § derar AR e |

Focus on stage-like progression in children’s development.

P-XT {IIEART TR nm 2



4.  Assertion (A) : During adolescence the pressures to conform to gender expectations and follow
conventions of feminity or masculinity increases.

Reason (R) : Gender and gender roles are determined biologically.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

afireRer (A) :  fonviraen & SR SR siensti & ST &Y T A1 JEuE St WISt &1 Uet H &
fore gama og S |

T (R) : Siet 3R SieX e Sifasw w9 § fuifta =i <t €)

e ferehed < |

(1) (A) 3R (R) ST Tora |

2) (A) 3R (R) I F&I € 31X (A) T (R) HE A Ll € |

(3) (A) 3R (R) ST =& T AAfeh (A) T (R) Tt =1 Tl B 2

(4) (A) T T AfHA (R) TTerd 71

4

5.  Assertion (A) : In Asian cultures which stress social harmony, expressions of ‘anger’ are
discouraged and ‘shame’ is encouraged.

Reason (R) : Emotions are subjective and do not play any role in learning.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

USRI (A) : TR el § S GHIfeeh Taql W SR <4 §, ‘shie’ @i sifveafad o1 gdieted
feran e ® &iR ‘v’ 1 viienfed foman s 2

HIUT (R) : Y AT § 31X We § i fireht & foet § |
e fased T4 |

1) (A) 3R (R) ST Tora |

2) (A) 3R (R) I T&I € 31 (A) T (R) HE AT Ll ¢ |

(3)  (A) 3R (R) SF Tl € Afeh (A) T (R) Tl ==& =& et
(4) (A) TE T AfHA (R) TTerd 71
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6.  Which method did Lawrence Kohlberg used to study moral development of children ?
1) Experimental method

2) Quantitative research approach

1)
)
(3) Posing moral dilemmas to children and analyzing responses
4)

Conducting observations of children during play

ARY higA| o I=dl oh Hideh [oehTd 1 27981 i & fau forg fafyr =1 v foean ?
(1) v fafy
(2) HETHE WY wr fafy

(3) F=al % W Afae gfaemd W oiR sl i wHIeeA S

(4) WA % IR Fodl I STIABA BT

7.  According to Lev Vygotsky what is the relationship between language and thought ?

(1) Language and thought are complex interrelated processes of development
(2) Language does not shape thought

(3) Thought shapes language

(4) Language and thought are independent of each other

G AR o STTER AT 3R foam & <t 7 ey § 2
(1) o IR faar fawm #i sfea fafi gfwand €)
(2) o foeR Sl TR T <t T

(3) foaR 9 @l 3R <9 ¥

(4) T IR foR Tk TR WA £

8.  Change and stability in emotions, personality and social relationships together constitute :
(1) Cognitive development (2) Personality development
(3) Emotional development (4) Psychosocial development
Ao, Saferdcel S ST el § gfterds iR feerar forg foemma o wifier €2
(1) HIEHS fom (2) fsa fawm
(3)  HreTcHe faehrd (4) HAEHEISR faehrd

P-XT {IIEART TR nm 4



10.

11.

Assertion (A) : Teachers should give lot of opportunities to children for experimentation and
discuss examples and non-examples.

Reason (R) : A constructive way of dealing with misconceptions in children is to provide
counter examples.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

ANTRIT (A) :  Tonerenl 1 == 1 WA & oI Sigd TR STIER 1 =1 IR SRl 3R -Semeol W
= AT A |

SIT (R) : Fedl B el RS § e 1 T s aden fauid Sl YeH & ¢ |

e fased T4 |

(1)  (A) 3R (R) ST Tord |

2) (A) 3R (R) I T T IR (A) T (R) T AT HIA |

(3)  (A) 3R (R) S Tt € AR (A) T (R) Tl ==& & el

(4) (A) TE T AfHA (R) 7@ 71

Students struggling with dyslexia can be taught to read :
(1) Through association method of conditioning.

(2) Through systematic phonological training.

(3) By providing higher grade level reading texts.

(4) By giving long and complex passages.

S dohed ¥ T3 W BT 1 Tg1 Taaman S gl € :

(1) A7Fhad i aeA fafy & arem 91

(2) A SIS I & " 9 |

(3) =9 US TR % 937 U UM hich |

(4) &9 AR SAfee MY TH |

A teacher asks herself - “How can I provide experiences that require students to classify different
types of objects in the environment and analyse their classification schemes ?” Which intelligence
is she trying to promote in students ?

(1) Bodily- Kinesthetics Intelligence (2) Linguistic Intelligence
(3) Inter-personal Intelligence (4) Naturalistic Intelligence

T fofaer ge @ gudt § - 8 U0 ogve Y UM R Tehdl § o Il @l gataR # fafae yen w5t
g3l I Ffihd e 3R STt AITRIUT & ThIHT 1 AT HIA i STEvTRdl &1 2"’ 8 SE H ford
fgHTT I ST T Y R W T2

(1) SmraRes-Tfagedt g (2) e FfgHa

(3) et fgad (4) YTHfaeR g

P-IT {IEART A nm 5 L



12.  Which of the following is a correctly matched pair ?

(1) Summative assessment : involves paper - pencil tests as well as detailed accounts of non-
written behaviours

(2) Criterion - referenced assessment : includes mastery of specific topics
(3) Norm - references assessment : compares performance to that of peers

(4) Formative assessment : determining what the students can do before and after the class

frefafed § @ sF-o1 get gafed 3m €2

(1) IRTcHe Yedih : 30 TR-UTae wew % wmy-ure R-fafed sreeri & fawga faeo mita §
(2) WFEE-Hed goish : fafere fowei it wera wita &

(3) THH-Hefdd g : e % Yo i go w1 §

(4) TS Gl : a8 i T i B el 9 Tt iR o # 9 R HWehdt ©

13. Which of the following hinders the participation of students with visual impairment in
classroom ?

(1) tactile models of graphic materials
(2) electronically formatted lecture transcriptions
(3) printed textbooks and notes

(4) raised-line drawings and maps

frefafea § @ oo gfteenfi faenfef= o1 wen o uriier) o o sren Srefar € 2

(1) e |reft o e @l

(2) oIS TU W YREUd A e
(3) Hfcd weagwh AR Aed

(@) 3N g @ foet iR wEfes

14.  Which of the following question promotes analytical thinking ?

1)  What are the various causes of increase of population in India ?
2) The capital city of India is

3) How many States are there in India ?

4)  What is the total population of India ?

=1 o @ =1 a1 weA faverones feam i agen S § 2

(
(
(
(

(1) 9Ra ® Smeen gfg & fafe= sro Fn g2
(2) YRd I TS L

(3) 9RadH fore T €2

(4) 9RG HI FA SAEEA T §?

P-XT {IIEART TR nm 6 L



15. Sensitive periods are those time periods during which certain are especially important
for course of ‘normal” development.

(1)  hereditary factors (2) genetic predispositions

(3)  ethnic factors (4) environmental factors

HagRiiel 31afy 98 gua orafy Bt § e SE 3w o &9 § ‘wmr’ fawm & fag
HEeETqUl el € |

(1) oeMITd Hh (2) SfaHS HR

(3) WS heh (4) TAFRUT Rk

16. Assertion (A) : Teachers should respect the individual differences among learners and adapt
their teaching to cater to needs of all students.

Reason (R) : Collaborations, group works and interactions among students should be avoided
while teaching a class of diverse learners.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(4) (A) is true but (R) is false.

AUk (A) :  Trereni o1 fnenfelli & st safaama famarsti 1 T e =nfew o) |eft forenfef=i =t
STETATRAISA! o STTAR 379+ T31&701 Sl THEITSG T A6 |

SIUT (R) : et w1 fafay geeyfh o frenfl 1 Je w9, 37 o= Wedm, 998 & 3R
ST | =1 =T

Tl fashed I |

1) (A) 3R (R) ST Tera £

2) (A) 3R (R) I T T IR (A) T (R) T AT HIl |

3) (A) 3R (R) I TE § KA (A) F (R) HEl AT T hdell S|
(4) (A) 5@ & Wl (R) T €

P-IT {IEART A nm 7 L



17. According to Jean Piaget how are children different from adults ?

(1) Children’s thinking is quantitatively different from that of adults.
(2) Children are dependent on adults while adults are independent.
(3)  Adults are much more knowledgeable than children.

(4) Children’s thinking is qualitatively different from that of adults.

S e e T e T e e e
(1) srdi S G A ®9 9 995k 9 f9 St T
(2) w=d FEEhl R R E § Sl g s e g |
(3) wrdl S g B Ta%k Sgd A FHT B ¥ |

(4) F=E Ht G FEER 9 O T Y i At 2

18. Assertion (A) : Schools should function within frameworks which assess the finished product
and learning outcomes.

Reason (R) : Learning is tightly sequential and hierarchical.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).

4) (A) is true but (R) is false.

ARTRT (A) :  Thedl ol 3T &= % iR HE T =G S TR S AR Wi o qfomdt 1 stieher
FA R

SIUT (R) : I gaeh TR TR STk 3R Ik T

e fashed T4 |

(1) (A) 3R (R) ST Terd |

2) (A) 3R (R) I F&I € 3R (A) T (R) HeEl HARAT T ¢ |

(3) (A) 3R (R) I T T AT (A) T (R) T = Tl B
(4) (A) 92§ AfA (R) To@ B

P-XT {IIEART TR nm 8 L



19.

20.

21.

Which of the following statement is correct about “Autism” ?

(1) Autism can be cured and improves with age.

(2) All autistic people have at least one exceptional skill.
(3) Autism is a neuro-developmental disorder.

(4) Autism is caused solely by environmental factors.

Trefafead § 9 SF-91 U7 ‘ e’ & Hed ¥ g8 g ?

(1) T T SATS foha ST Hehdll §; W & WY 3HH YR 37 T
(2) T STl 9ot A § wH-H-H T a9 it g ©

o o

(3) Tl U dfFhra faemrars faer €1

(4) TIAAT I ITAERUNS HRehi o HROT BT § |

Constructivist teaching leads to learning by students.

(1) receptive (2) discovery (3) meaningless (4) rote
ToTeel freqor ferenfef=il =t A T AR W S R

(1) TeoR (2) Wi-smuiia (3)  S1efEH (4) FFq
Jean Piaget’s theory of cognitive development implicates that :

(1) Focus of teaching should be the outcome of the activity instead of the process of thinking.
(2) Behaviour should be conditioned using rewards and punishments.

(38) Concepts should be taught in a sequence of complex to simple.

(4) Curriculum should be designed keeping children’s age-group and stage in mind.

S foemst & ST T o6 fagid g sram € &
(1) Toeron =1 5@ Tfafafy & aRom W 91 =ifee 7 fo dem &1 gk W

(2) SHIER HI T AR WEHRI o HIEAH I STRfAd fohan ST =few |
(3) STEYURUNE ! Sifed § WX o A § fa@mn S =few |
(4) UTSUSHH I F=dl o TI-THE 9 WU Fl LH H TR IR fohan ST =fen |

P-IT {IEART A nm 9



22.

23.

24.

25.

In progressive education children are perceived as :

(1) Vulnerable and in need of protection

(2) Innocent and dependent

(3) Compliant and capable of only consuming knowledge
(4) Knowledgeable and meaning-makers

yifaeiier e & sr=ai i foh oXE T@ a1 € ?
(1) FH9IR IR e =t S&xd

(2) WA 3R a7faa
(3) SRR TR Haa FH 1 IUHM F § Had
(4) THEYE SR 27 A A R AT

Rama is a teacher who is implementing Vygotsky’s theory in her classroom and she assigns her

students to work in groups to complete a challenging task. During the task, one student struggles

to understand a key concept. What would be the most effective way for Rama to help this

student ?

(1) Work through the problem with the student and providing guidance and feedback as needed
while involving other group members.

(2) Provide the student with the answer to the problem so the group can move on.

(3) Encourage the student to try to solve the problem on her own.

(4) Assign a different task to the student that is better suited to her abilities.

T e forferent § S it o Tgid o STOT el § S X W © 3R 98 Teh A S ol 0w

% foTT o794 BTl ! TR § M T o fau Fgad hadt g | e o SR, Th 919 Teh Tecqul HehadHT

T & fau dord T 81 T & fIU 39 B3 1 Heg 3 hl Tl YT qliehT -1 81 2

(1) B % T T T HM FL SR T & 7 TS=1 ] M A gU SAALIRAIIR AN 3R
gfagfte gem |

(2) BT F YA hT IW Y F{ Mk T 3TN &6 Teh |

(3) B hl HHE] Sl W A F H1 TIH L o T Grediied i |

(4) O T TH T w1 WY S SHb! AFAATS o TR o |

Which learning strategy involves children teaching others what they have learned ?

(1) Reciprocal teaching (2) Conditioned learning

(3) Rote learning (4) Expository teaching

fore aaferm it Torifa & sredl gRT gudl st e wnfhet € St S=iA dien § 2
(1) 9REaRER frefo (2) STEE STfeTy

(3) TR HiE (4) ATEATHS e

Which of the following correctly describes ‘culturally responsive teaching’ to cater to diverse groups
of students ?

(i) Intentional (i) Adaptive (iii) Differentiated (iv) Standardized

M 6, ), (i), (v) @ ) @) (3) (i) (i) @ ) G G

B & fafay wEl #1 @ W & fau fefated § § o0 |iesfas €9 8 Iweret feo’ w1 w@ ao-
FIAT 2

() gfe=Ra (i) STmfad (i) fasafed (iv) HhIFd
1) @), @), (1), Gv) (2) @), 1) (3) (i), (iii) 4) (i), (i), (i)

P-XT {IIEART TR nm 10 L



26.

27.

28.

In order to develop critical thinking among students a teacher should :

(1) avoid questions which need inference and analysis.

(2) ask only those questions which carry single answers.

(38) discourage the students from asking doubts and questions.
(4) give questions that involve inferences and explanations.

forenferai & oIS foaq i fasfad = & fau, T e =i

(1) TH Famel § s=1 =g, S foerem iR fowerr &t stavdehd! Bt ¢ |
(2) hadl TH & Fard Ie AfeT {5 Tk & SR 2|

(3) foenfefei w1 3k Heg 3R WaTe IEA o foTu gdicdTied AT =1feu |

(4) U Hae <7 =fen fod frend ok samemd fhe 20 ¥ )

You are a teacher who wants to help your students develop metacognitive skills. Which of the
following strategies is most likely to foster this type of thinking ?

(1) Assigning homework that requires memorization and recall.

(2) Giving students marks instead of qualitative feedback on their performance.

(3)  Encouraging students to reflect on their own learning and thinking processes.

(4) Providing students with summarised notes for assignments.

319 T 187k & S 3799 B ol WEHIMHS vl faehidd 9 H Aeg &l 9rd & | fFefafed § 9
HIF H WHITG 39 YR & Toa & Seman <7 S qod 21fee e § 2

(1) e Wi e foe g e SR A T St STkl Bl ¥ |

(2) BTE F ITh YA R TUMHS FfTYfie & a9 37 <1

(3) BHE P AT WH F WG AR Trem F 9 R TR w1 % fau defed s
(4) foenffi 1 et &l & fau arifi icg gem we |

Feedback to the students in a classroom is most effective when :
(1) It centres around tests and exams at the end of the year.
(2) It assigns comparative ranks to the students.

(8) It occurs during as well as after the learning activity.

(4) It focuses on what the child cannot do rather than what they can do.
B % o wen H wifshan gerd stferek gorel gt 8 el

(1) =8 % & 3fq H e iR qden W Hgd T

(2) I% BTH I FaATHS N YSH FHIAT 7 |

(3) I Frad =i Tifafafy & SR SR uvEa of B ¥

(4) % TH 9@ W SN higd Hal ¢ foh /a1 91 TE HY Tohd] oS $Hh Toh o8 I T Hehell © |

P-IT {IEART A nm 1 L



29.

30.

Assertion (A) : Teachers should encourage debates, discussions and collaborations among
students.

Reason (R) : Knowledge production is an inactive process and engagement in group activities
hinders meaningful learning.

Choose the correct option.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

afeRem (A):  forereni o1 forenfi=li & i o, == 3IR W i Yreafed T =nfeu |

T (R) : T Searer e Tftha wfswan € ol wmfees nfafafersl & deman srefyof siferm & snen
Sl B |

e fased T |

1) (A) 3R (R) I T € |

2) (A) 3R (R) I T T IR (A) = (R) T =A@ HIAl T |

(3) (A) FR(R) I TE § ARRA (A) F (R) HEl AT T hdell § |
(4) (A) 5@ & Wl (R) T T

Sunita, a 12 year old girl, shows exceptional musical ability. Both her parents are accomplished
singers, and they send her for classes for voice training after school. Her capabilities are most likely
to be the result of an interaction between :

(1) gender identity and genetic make-up (2) growth and maturation

(3) nutrition and discipline (4) heredity and environment

G, Tk 12 T areent, fasre wifidter arman Tardt €1 S9ek wrar-fod, <1 & g ek €, o) 9 gt
1 STIT STEATS I TR S A o forw Ufreror el § 99 1§ § 1 Gl 1 I &wan Henfod €9 9 ford
FReh & iq:foran 1 9fomm €2

(1) <ifiTeh TeaM AR STIafe e 2) dfs 3R gRgeaa
(3) HrHur AR SRR (4) SATISRTRAT IR ATdTERY

P-XT {IIEART TR nm 12 L



IMPORTANT | Hgeaqyof

Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 111 (Social Studies / Social Science).

gitgnfefat &t w9731 @90 AT Gt 9T - 11 ( T F G717 ) ar 4T - 111 ( QrEfSas 37997 / Qs
faarT) @ & &

PART - 11 / IV - 1
MATHEMATICS AND SCIENCE /Tlﬁﬁilﬁﬁrﬁ
Direction : Answer the following questions by selecting the correct/most appropriate options.
[T : fA=fciad T @ W &7 & [T Qgl/aad 39ga faeeq g/
31. Marks obtained by some students of a class are 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 and 35.
The difference of the mean and the range of the data is :
(1) 6.0 (2) 4.5 (3) 5.0 (4) 5.5
fordt e & F fomnfel g1 wra sfs 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 3R 35 T
3 3kl o Tred 3T 4R i S
(1) 6.0 (2) 4.5 (3) 5.0 (4) 5.5

32. If x is the least number which must be added to 955 to make it a perfect square, then value of 3x +2

is equal to :

1) 5 2) 20 3) 14 @) 11

g 955 H SISt S ATeft x T =IAaH T §, S 36 T YUl ot o1 el ©, f 3o +2 T B oK ©
1) 5 2) 20 3) 14 4) 11

33. The domain of learning that deals with attitudes and values is known as :

(1) Psychomotor domain (2) Knowledge domain

(3) Cognitive domain (4) Affective domain

ST 1 98 &1 11 o oK Td qodi o |1y Fafyd 7 39 % & H ST S 2|
(1) TA-TTereH & () A&

(3) HIAMIHE & (4) ERHER &

SPACE FOR ROUGH WORK / 7% &9 & feg smrg
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34.

35.

36.

37.

How many natural numbers between 1 and 500 are divisible by each of the numbers 3, 5 and 7 ?

1 o6 2 3 (B) 4 4) 5
1 3R 500 % == Tt foha=t Wieha HEAT €, <1 Hemedi 3,5 iR 7 § A g+ 4 faye €2
(1 o6 2 3 (B) 4 4) 5

(a-b+c? —(@—-b-o0)?

is equal to :
b—a a
(1) 2c (2) b-c B) c—a (4) —4c
- 2 _(a—b-—
@=-b+c)* —(@a—b—0) R
b—a
(1) 2c (2) b-c B) c—a (4) —4c
M is a point on side AB of a triangle ABC such that AM=BM=CM. If angles A and B are

respectively x and 70°, then the value of (3x +25°) is equal to :

1) 115° 2) 70° 3) 85° (4) 100°

foRet B9 ABC &1 ST AB WM M & foig 39 YR fXerd € ff AM=BM=CM %! 3fc & A iR B
HE: x 3R 70° €, @ (3x +25°) H HF TR ¢

(1) 115° (2) 70° (3) 85° (4) 100°

The number of faces (F), edges (E) and vertices (V) of a polyhedron are 7, 15 and x, respectively.
Then, the value of (2F +3E—4x) is :

1y 17 2) 20 3) 19 4) 18

ot SIgwheTsh! o Hetehl (F), TART () SIR it (V) &1 G@md shust: 7,15 3R x 1 9, (2F +3E —4x)
HHAR :

1 17 2) 20 3) 19 (4) 18

SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg
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38.

39.

40.

Which of the following is NOT an indicator of creativity in Mathematics ?

(1) Students can pose questions.

(2) Students use convergent thinking in different contexts.

(3) Students are able to think flexibly.

(4) Students use multiple and alternate problem solving strategies.

Frefafea & 9 = A § TSIl 1 Hehdeh &l © 7

(1)  foemef 997 weqd X Thd ¥ |

(2) foeneft fafv= el # iy feias w1 Swim 3t 1

(3) foeneft or=ictt 9 & wam €1

(4) foenef fafay iR Sehfeas ToE THIEM ot HEATTE B STET H § |

If (2x +5y)2—5(2x +5y) — 14 = (2x + 5y + p)(2x + 5y + q), then the value of (p+q) is :
1) -5 @ 7 3) -14 4) 9
G (2x +5y)2 —5(2x +51) — 14 = (2x +5y +p)2x +5y+q) &, A (p+q) H 7 © :

1 -5 Q) 7 3) -—14 4) 9

Two parallel lines are intersected by a transversal and the two interior angles so formed on the
same side of the transversal are (2x+15°) and (3x —20°). Then, the value of (4x +6°) is :

(1) 146° 2) 154° 3) 150° (4) 148°

e foofs T @ guiat et & gidese Hdt € a1 39 YR fodd Y@ & U & IR s o a:
(2x+15°) 3R (3x—20°) §1 9, (4x+6°) F AH T :

1) 146° 2) 154° 3) 150° (4) 148°

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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41.

42.

43.

The sum of the largest and smallest fractions among é, 2%, % and 2% is :
39 9 37 7
2— 2— 2— 2—
1) 40 (2) 35 () 40 (4) 35
=i g, 2%, % R 2% T gad JSt 3R gag Bt fa=i S A ®
39 9 37 7
2— 2— 2— 2—
1) 40 (2) 35 () 40 (4) 35

PQRS is a parallelogram whose diagonals PR and QS intersect at a point O such that
OP=(x+7) cm, OQ=(x+y) cm, OR=20 cm and OS=16 cm. Then, value of (7y +5) (in cm) is :
(1) 28 (2 21 3 23 4) 26

PQRS T TR =g 7, fmer fashf PR 3R QS TR fig O W wfaesg wd §1 afs OP = (x +7) em,
0Q=(x+y) cm, OR=20 cm A OS=16 cm T, T (7y+5) F (cm ) A ¥ :

(1) 28 2 21 (3) 23 4) 26

5 3
Arun is three years older than Varun. Eight years ago, 5 th of Arun’s age exceeded 5 th of Varun’s

age by 6 years. If the present age of Varun is x years, then the value of x can be determined by
solving the equation :

3 5 5 3
(1) FE+3)- -8 =6 2 =3 gl=8=6
@ -8~ 2x-5=6 @ S5 -8 =6

3%, %0 ¥ 9 9 a2t ¥ maﬁm,maﬁmaﬂgaﬁwaﬁm%ﬁ%ﬁﬁéaﬁﬁww
e TEV K IAHM Y x I8 €, Tel 1 BT TH T THH T 5 FA F W & Fehell @

3 5 5 3
(1) FE+3)- -8 =6 @ =39 -zx=8=6
@ -8~ 2x-5=6 @ S5 -8 =6

SPACE FOR ROUGH WORK / 7% @&Td & {eTT STTg
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44. At upper primary stage, as per NCERT, which of the following topics have NOT been included
under number system ?

(1) Square roots and cube roots (2) Complex Numbers

(3) Fractions (4) Exponents and Powers

NCERT % 38R, 391 WITHeh R W, Y&A YTel o avd, Fefared § 9 ®HA-9 g ginfead &t
fpy M €2

(1) wiga iR = (2) wfmg gen

(3) fu= (4) i SR EE

45. Which of the following statement is least appropriate regarding the proofs in mathematics ?
(1) Proofs are built on intuitive knowledge and not reasoning.
(2) It explains why a particular mathematical result must be true.

(3) It helps to reveal the connections and provide insights into the underlying structure of
mathematics.

(4) It can help the students to validate their own reasoning.

frefafead & @ &9 @1 e o § Syt & Geia § qod w9 STgeE © 2
(1) 39afai 1 i siqesita 9M W 2l § 1 foh T R/
(2) % AT H © o Tk foem wifordta aRoms s =i g1 =t

(3) U8 WYl HI IR A H HER Il © IR I i SAafifed I H Siagfe YeH i g

(4) = foenfei=i &1 o9 W % q% I I L H HEg R Gohdl S

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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46.

47.

Which of the following is NOT true ?

(1) The value of the variable in an equation which satisfy the equation is called a solution of the
equation

(2) 3+4x5 is not a mathematical expression
(3) Operations of multiplication can be done on mathematical expressions

(4) The expression (x2+10x +25) cannot be simplified further

frefafed § 9 &9 o 9 & 72

(1)  FHeRTo H =X 1 o8 A S GHIH 1 T Hl 8, G0N Hl & FHecldl §
(2) 3+4x5 TH T o T 7

(3) UM i GfskATE TIoTce SSrRl W T ST Fehdl &

(4) STH (x2+10x+25) H R Ak T Tl foman S whHA ©

Area of a right triangle is 240 cm?. If its one side other than the hypotenuse is 30 cm, then perimeter
(in cm) of the triangle is :

(1) 100 2) 80 (3) 84 4) 92

et TeRIoT TS T &Thet 240 cm?2 B Afg ol o Afafiad STeh! T ST 30 cm §, @ 39 3 &1
IR (ecm ®) ¥ :

(1) 100 2) 80 3) 84 4) 92

SPACE FOR ROUGH WORK / 7% & & fag wig
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48.

49.

50.

The height and base radius of a right circular cylinder are 9 cm and 6 cm respectively. If the base
radius becomes half and height increases by 3 cm, then which of the following describes the new
volume of the cylinder ?

(1) The new volume will be one-third the original volume.
(2) The new volume will be twice the original volume.
(3) The new volume will be half the original volume.

(4) The new volume will be thrice the original volume.

ot Ta e e it S 3R SR 52 ShHeT: 9 cm 3R 6 cm ¥ 1 Afg 3UR oo emeft i < Sy
T S=E | 3 cm HI ghg IR < I, @ 79 H T HE-T1 50 S0 & T AT hi AT HAT § 2

1) 79 STAA ol STEdA 1 Toh-fagrs =1 S |

1)

(2) T ST A ST HI AT B ST
(3) T ST A HHTH 1 LT & S |
(4) T ST e ST 1 T B ST |

D is a point on side AB of a AABC such that CD is the bisector of ZACB. If ZA=50°and £B=70°,
then ZADC is equal to :

(1) 100° 2) 30° 3) 50° 4) 70°

foRet 391 ABC &1 T AB R feord D T foig 39 WahR T CD, #I1 ACB &1 @ufguiss g1 afg
ZA=50° 3R LB=70° ¥, @ LADC SRR ¥ :

(1) 100° 2) 30° 3) 50° 4) 70°

Perimeter of a quadrilateral ABCD is 120 cm. If BC=48 cm, CD=17 cm, AD=40 cm and
ZA=/B=90° then area of quadrilateral ABCD (in cm?) is :

(1) 750 2) 660 3) 690 4) 720

fordlt TSt ABCD &1 9T 120 cm €1 af€ BC=48 cm, CD=17 cm, AD =40 cm T LA = /B=90°
%, @ =9qyds ABCD 1 &9%d (cm? ) ©

(1) 750 2) 660 3) 690 4) 720

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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51.

52.

53.

In a pie chart, the marks obtained by a student in Mathematics, Science, Social Science, Hindi and
English are respectively represented by sectors of central angles 90°, 80°, 65°, 75° and 50°. If the
total marks obtained by the students were 540, then what is the difference of the marks obtained
by him/her in Mathematics and English ?

1) 30 2) 60 (3) 50 (4) 40

T I = W, fordt famnelt gru nifvr, famm, wmfstes famm, few oiR st # wra et w6l st 90°, 80°,
65°, 75° 3R 50° % H=d vl aret T Wel gr frefua foman €1 afe 33 fomnelt gr1 wra $a 3 540
&, 1 3T R M0 IR TS H U Sfeni ohT e FAT§ 2

1) 30 2) 60 (3) 50 (4) 40

Which of the following statement is NOT correct with respect to Rubrics as a tool of assessment ?
(1) Rubrics make evaluation more subjective.

(2) Rubrics has a fixed scale.

(3)  Rubrics has a list of characteristics describing performance for each point on the scale.

(4) Rubrics consist of a clear performance target for students.

frefafed § | & O 6 The & Th EF & &9 H Sfod & o 9 T8 § 2
(1) fsiw geaie o1 31fueh AfFaReE s €|

(2) fs %1 T FfEa Tom S S

() Efo® % TM R g fog W IS¥E 1 9viF A aelt fomroasti i g= 2 T
(4) T H farnfeldi & fau T yeui @7 2 S|

A sum invested at 10% p.a. for 2 years becomes X 3,267, when the interest is compounded annually.

. . . |
What will be the simple interest on the same sum at the same rate in 25 years ?

1) % 700 2) T 625 3) 650 4) T 675
10% =ftfer X W 99 oY T Tah &HUier 2 a9 H T 3,267 &1 Sl €, 5o oA1S itk Hafeid arar g1 341

T RSH Y 2% o H fordT IR A1 2 2

(1) % 700 2) T 625 3) T 650 4) T 675

SPACE FOR ROUGH WORK / 7% & & fag wig
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54.

55.

A trader buys 12 fans for I 24,000. He marks each fan at 25% above the cost price. If he sells all
fans by giving 10% discount on the marked price, then his overall profit (in ) is :

(1) 3500 2) 2700 (3) 3000 (4) 3200
Teh SATIRT 12 W % 24,000 H TG €1 98 YA TG I ST Haqed W 25% 21 W Aferd Far T
Ifg g [t 9@ 1 10% T 2 TH 99 A1 7, A FoA AR ITH A (T H) 7

(1) 3500 2) 2700 (3) 3000 (4) 3200

Arrange the following statements according to ascending levels of geometrical thinking as per
Van-Hiele’s theory of geometrical learning.

(a) Identification of properties of geometrical shapes

(b) Classification of different shapes

(c) Finding relationship between the properties of geometrical shapes
(d) Identification of geometrical shapes as they are

Choose the correct option :

1) @), () (b) (d) 2) (@), (), () (d)

3) (@) (b) (@), (© @) (d), () (b), ()

9 T & s tferm % fagia & ATUR frefafed weFl o senfida 9= & ST Wi | Sxafkerd
HifeT |

(a) STHATE SAepfael o 7O i e

(b) Tafw=r s o1 affeRtor

() SOfEa STeRfa=l o T & i Helel g
(d) A STRfa=l i, SiEt 9 ], S5 ®9 § g

el fasked _?ﬁ :
1) @), () (b) (d) 2) (@), (), () (d)
3) (), (), (@), () 4) (), () (®) ()

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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56.

57.

58.

The ratio of two numbers is 3 : 7 and their LCM is 630. Then, sum of the LCM and HCF of these
numbers is :

1) 660 2) 30 (3) 300 (4) 600
T Heemsil 1 31U 3 : 7 ¥ 991 e LCM =630 1 Td, 39 &msii & LCM 3R HCF &1 M T :
1) 660 2) 30 (3) 300 (4) 600

According to National Curriculum Framework 2005 which of the following process is least
important in mathematics ?

(1) Generalizing a mathematical formula.
(2) Solving day to day problems.
(3) Understanding when and how a mathematical technique is to be used.

(4) Finding short-cuts in mathematics.

T ISt @1 2005 % SFATIR Fr=fafed § @ &F o gferan forg & we@ &9 Jewergut €2
(1)  TIIOrdT 5 o1 =R |

(2) T ufafes =t wwenet 1 FEYE w1
(3) IE HHEHT o U Geh-ieh 1 STAN hdl 3R hY fRaT ST Fehdl T
(4) IO | Wéehe @ISHT |

Which of the following does not imply the meaning of assessment ?
(1) Itis a procedure to gather information of student’s performance.
(2) Itis evaluation.

(3) It helps to label the students.

(4) It helps to diagnose individual differences.

frfafaa o 9 @ sTehe o 37ed ol STEl gHeia ?
(1) = fomnef % Yo W SHHR THFT FH 6T Th A g |

(2) I AR B
(3) = fomnfef 1 Frmifera # o FEmEdT A B
(4) Ie AfFmd fu=rarsti &1 feM w1 § wemeE w2

SPACE FOR ROUGH WORK / 7% & & fag wig
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59.

60.

The value of 52 X3 +4+ /441 +7Xx3+5—-32+8%X12 is :

1) 21 2 0 3) 5 4) 15

52x3+4+ /441 +7x3+5-32+8%12 kI AF © :

1) 21 @) 0 3) 5 4) 15

A teacher distributes different types of triangle shaped paper cuttings to the learners and tells
them to measure and tabulate the angles in order to find the sum of angles. He tells them to note
the result in each case.

This method of teaching is an example of :
(1) Analytical approach (2) Discovery method

(3) Teacher centered approach (4) Deductive method

e forerer forenfeai 1 fafu= R & SRR STt 6t St foafka s © iR 3= 1o 61 a0 9
L o foTT 1ol 1 Ao SR IRfeg 1 & fT Tl § 1 98 3¢ Yok gt § aRom A e
AT e T

foreror =t I fafy FT T ST
(1) ToweromeEs® 3qrTH (2) @ fafy
(3) foares Shfgd surm (4) frmAes fafy

SPACE FOR ROUGH WORK / T% &9 & {eTq sWrg
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Direction : Answer the following questions by selecting the correct/most appropriate options.

f[Rsr:  frEfafad e & 3w &7 & 7T WEl, qad 3ugerd faeeq T

61. Which of the following characterizes human circulatory system ?

(1) closed, double circulation (2) open, single circulation
(3) open, double circulation (4) closed, single circulation
frefeiad 9 | =/ ae 9RE=R gored! § <1 aifvfd s 2

(1) ¥9q, fgheard (2) fogq, e FoE

(3) o, fome=md (4) F, TRA e

62. A gender responsive pedagogy in science entails.

(a) Use of gender sensitive language

(b) Engaging students in examining stereotypes

(c) Making gender based groups

(d) Using differentiated instruction and assessment

(1) (¢) and (d) (2)  (a), (b) and ()
(3) (@) (c) and (d) (4)  (a) and (b)

fogm # fom (Si=eR) gfadac fremms smafterd s ® -

(a) Tom Heifya (SieX) Hagefial e < 39AT i
(b) feasg uronet &I wire/wE i H foenfo &1 w@faw w0 a5
(c) fam (Siex) eenia g oA ol
(d) faudiha fdw wd strere & 9N 6
(1) (¥R 2 (@), (b) ()
() (@) () () (4) (@) ¥R )
63. The colour of flame depends on :
(a) Nature of combustible substance
(b) Oxygen supply
(c) Temperature of the surroundings
(1) (a) and (c) (2) (a) only (3) (b) only (4) (a) and (b)
e ot 1 R e ®

1) (a) 3 (o) (2) e (a) (3) = (b) (4) (a) 3R (b)

64. Which of the following is true regarding scientific laws ?
(1) They provide reasoning for physical phenomena.
(2) They describe relationships between observable phenomena.
(3) They are formed from scientific theories.
(4) They can’t be challenged.

frefafed & 9 St fami & aR H SF-91 9@ 2

(1) 9 vifaes afeeed & fau as (faa=m) moF =@ €1
(2) 9 sTacrTeie gfREeTsti % HeA Gl o1 vl wd ¥ |
() A dwfTe fogidl & o £ |

(4) I A T S S el B

P-XT {IIEART TR nm 24



65.

66.

67.

Which of the following statements is/are true ?
(a)  Self pollination takes place only in bisexual flowers.

(b)  Bisexual flowers can pollinate both by self and cross pollination.

(1) Both (a) and (b) are true. (2) (a) is true and (b) is false.
(3) (a) is false and (b) is true. (4) Both (a) and (b) are false.
frafafed & @ F 91/9 wed |& € 2

(a) TR e fgfert goal (Fell) A Bar e |

(b) ffeit g0 (FeT), W& T8 WAV SHT R § AT e Tohd % |
1) (a) 3R (b) I T T | 2) (a) W T SR (b) T T
3) (a) o § SR (b) W T 4) (a) 3R (b) I T

Which of the following illustrates ‘science as inquiry” ?

(I) Observe the types of venation in various leaves

(2) Classify the given plants into herbs, shrubs and trees

(38)  Explore factors which affect the rate of germination in gram seeds

(4) List five uses of coconut tree

frafafaa § @ =F @ SiT9-vsdiet s e foam’ &t faf w=ar g ?

(1) fafs= gl & RrRifam=ma o 9eRRi o1 STaaiehd S

(2) feu e el (i) 1w, wfedl e gall § sfiener s

(3) = % S H SIHI0T il T ] YHIfd HA ATl HRI T S0 R
(4) TRFA F U (F&) * U9 START giaag T

(A) Metal oxides are basic in nature.

(B) Air expands on heating.

(C) Lime water turns milky on passing carbondioxide.

(D) Sodium hydroxide and hydrochloric acid neutralise each other.

If observation is represented by O and inference by I, which of the following statements is correct ?
(1) O-ABI-BC 2 O-CD;I-AB

B O-BCI-AD 4) O-CI-ABD

(A) ©Tq-STFTES THfd H & B € |

(B) o T B W Hherdt §
(

(

W =

2>

C) e SRATFES JAY (ST W) HIA T A T T e &1 Sl 7

) HifeTm TESIREE Td TSN ST Teh GHY %l ST T < & |

3R 3Tac O gR1 FEUd § e 1 510 1eaeR (fed) ® @ fefafead § 9 SF-91 %o 9ar 82
(1) O-ABI-B,C 20 O0-CD;I-AB

(3) O-B,CGI-A D 4 O-Gl-A B D

)
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68.

69.

70.

Read the statements given below and choose the correct option :

Assertion (A) :

Reason (R) :

1

€3]

4

The rate of breathing in aquatic animals is slower than land animals.

Presence of large amounts of dissolved oxygen affects rate of breathing of aquatic

animals.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not correct explanation of (A).
(4) (A) is true but (R) is false.

frafafaa oAl 1 ufgr 3R W& W 1 g9 SIS

ANTRT (A) : ot WURN R qoreT B Seitd Wforei =t vade X et Sl § |

qeh (R) : STt | it g8 STiadIoi ohl = | STeta Mo <t a8 <X shl gifad il
1) (A) 3R (R) I et

2) (A) 3R (R) I T € T (R), (A) T Tl =08 T

(3) (A) 3R (R) S w& § TG (R), (A) T T AT T T

4) (A) 5 § W (R) T 2|

Read the statements given below and choose the correct options :

Assertion (A) :

Reason (R) :

The filament of an incandescent bulb is made up of tungsten.
Tungsten has low resistance and high melting point.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not correct explanation of (A).
(4) (A) is true and (R) is false.

frafafaa oAl #1 ufgr iR T& W 1 g9 ST

AHAT (A) :

T (R):
(1) (A) ¥R (R
2 (A) ¥R (R
(3) (A) ¥R (R
4) (A)

Teh AT ool o1 Yaq (dq) <% ol s Bl § |

I 1 e wfadie W 5= i B B
) S TTeTd ¥ |

) ST T ¥ 991 (R), (A) T TE A T |

) THI TE € T (R), (A) T G& = T )

A) & § 3R (R) Tod ¥

An odometer in a car measures :

(1) acceleration of the car (2) distance travelled by the car
(3) instantaneous speed of the car  (4) average speed of the car
T FR H SIS 7T g

(1) SR I @O (Tfqeed) (2) RGN T I TS U

(3) R ol drcehlfereh =mel (TTfd) (4) R HI FEd A (TA)
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71.

72.

73.

Which of the following is/are true regarding scientific investigations ?

(a) Results are not influenced by procedure.

(b)  Social context may influence conclusions in any investigation.

(c) Data and evidence are same.

(d) There is no universal scientific method.

1) ©@and(d) () @and(®) (3 (and(d) @) (a)and (0)

frreferfaa & ¥ & °/Q a1 STTE,/ S0 % aR H 6 8/8 ?

(a) fom foran fafy gro genfaa 61 2 €

(b) Tordt eggym/ erom # gmifee oo genfad Y Tehd T

() STRS TR W& (YHTOT) T9H B & |

(d) wE ot T (wdeamdt) et faf & 7

1) @M @ @G G O @) @I

Read the statements given below and choose the correct option :

Assertion (A) : It is recommended that acid should be added to water for diluting the acid and
not vice-versa.

Reason (R) : Dilution of acid is a highly exothermic reaction.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is correct explanation of (A).

(3) Both (A) and (R) are true but (R) is not correct explanation of (A).
(4) (A) is true but (R) is false.

frAfafaa swemi w1 ufgu sk WEr 3| *1 FAE HifT

AfUeRe (A) : I8 AR § o ot A1 9 9 & o siat B 31t <t i =nfe 7 fob ot B S\t |
qeh (R) : 3TFE o HeA (TR0 AT 3= ®9 H Foamardt stfufepan g1

1) (A) 3R (R) I T E

2)  (A) 3R (R) 1 T & 91 (R), (A) T T A T

(3) (A) 3R (R) I w& & T (R), (A) I FE =AM T T

4) (A) 92§ g (R) T B |

The purpose of divergent questions in science classroom can be :

(a) to promote critical thinking

(b) to discern between students

(c) to develop communication

(d) toidentify gifted students

(e) to identify alternate conceptions

(f)  to appreciate subjectivity in science

(1) (b), (d), () and (f) (2)  (a), (b), (d) and (e)
(3) (a), (b), () and (9 (4) (a), (©) (¢) and (
TR e § SToER} el 1 SRY B Wbl %

(a) STErEAHS (foa=mrmes) o @l diefed (Jg@n <) T &
(b) foenfoRdi o o 9 & #

(c) FaR (FHV) fosmfaa o &

(d) Tfavmenel fomnferi @t Te=™ & @

(e) Iehicush STAURINSAT ohi TgaH LT

(f)y Toum o =faafrsar &1 e &

(1) (), (@ () #R @) @ ©) @ IR
3) @ 0 © @ @) @ (@) (RO
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74.

75.

76.

The atomic number of A is 13 and the atomic number of B is 17. The chemical formula of the
compound formed from A and B could be :

(1) AB 2) A,B (3) AB, (4) AB,
A 1 TTHV[-SHHI 13 § T B I TA-HIF 1781 A IR B ¥ faftfa Sifirer =1 wmafe g7 @ gwar ¢
(1) AB 2) A,B (3) AB, (4) AB,

Discussion on socio-scientific issues in class helps in :

(a) developing argumentative skills in learners

(b) developing multiple perspectives on an issue

(c) encouraging citizen science activities

(d) appreciating the role of society in development of science
(1) (b), () and (d) (2) (b)and ()

(3) (@), (b) and () (4) () and (d)

el U ISR A1k el &1 IR== TRl il ©
a) IferERAisT § TehETd v ol foehr & |
) Tordt Al W Sg-uRuedt w1 foe & |

(

(

(c) Rk foqm deeh wfafafeat o6 9| & o

(d) ToIm o fasrma o TarS i YfHehl o HE@ il WihR HE §
(

(

1) (b), () IR (d) (2) (b) ¥R (o)
3) (a), (b) ¥R (c) (4) () IR (d)

Which of the following factors are responsible for generation and flow of winds on the earth ?
a) Uneven heating of the earth

b) Uneven heating of the oceans

(
(
(c) Distance between earth and sun
(d) Gravitational force on the earth
(

1) (a) and (d) (2) only (a) (3) (a) and (c) (4) (a) and (b)
frfafad § @ ¥ SR geait W qaqi & S Td 9819 & fag, SerE € ?

(a) gt w1 Al (AReEdE) ada
(b) HEENH I Afafd (qRed=) qroe
(c) Tt IR g & = &l g0
(
(

d) gt W EERYT g
1) (a) R (d) (2) e (a) 3) (a) 3 (o) (4)  (a) 3R (b)
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77.
Reason (R) :
1)
(2)
)
(4)
afireRed (A) :
e (R) :
1 (A
2 (A
G) (A
4) (A

N N - -

78.

Assertion (A) : The ceilings of cinema halls and concert halls are generally curved.
Sound waves after striking a curved surface get reflected in all directions.
Both (A) and (R) are false.
Both (A) and (R) are true and (R) is correct explanation for (A).
Both (A) and (R) are true but (R) is not correct explanation for (A).
(A) is true but (R) is false.

g gfa oI it 99Rie 3fdt &l Sd 9m=Ia: afshd Bt ¢ |

T afshd a8 | THIA & Tvaq et aiil |t feensti # wrafda & st €1
iR (R) I T 21
3R (R) SHi &l € 991 (R), (A) ! T =0 B
3R (R) SHi &l € 9 (R), (A) i Tl = & €1
& € W (R) Ted

Following table depicts colour changes in acids and bases when various indicators are added :

Indicator

Colour change in acids

Colour change in bases

Turmeric
China rose
Phenolphthalein
Methyl orange

No change
Dark Pink
C
D

A
B
Pink
Pink

A, B, C, D respectively are :

(1)
(2)
(3)

yellow, orange, pink, colourless
reddish brown, green, colourless, orange
yellow, green, orange, colourless

(4) reddish brown, pink, orange, colourless
Frfafea areh fafiy= e & Sl SH W o7 3R aR # 89 a1t 31 gRed &l fafa & @
S AR | 1 ATt g | A a1t T
1 ufEda gfadH
gl EIRRICHER ] A
LS TR TeATeR B
EACIGEDINE] C TerTeh
Ao - TR D NSIC]
A,B,C, DA T :
(1) e, s, e, TR
(2) T4 Y, B, TRF, AR (AR)
(3) dter, 7, SR (AR, TEA
(4) T YT, T, SR (AR, R
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79. Three identical holes are punched at different levels (heights) in a plastic bottle. The bottle is filled

with water. Which of the following statements is true regarding the flow of water from the
holes ?

(a) Water from lowest hole comes out with greatest force
b) Water from highest hole comes out with greatest force

c)  Water from all holes comes out with equal force

(

(

(d) Water from lowest hole falls at maximum distance
(e)  Water from highest hole falls at maximum distance
(

f)  Water from all holes falls at same distance
(1) (a) and (d) (2) (o) and (f) (3) (a) and (e) (4)  (b) and (e)

Teh s &1 siadd | f=-fa= & (SEEEl) W 9989 (THeY) oiF o T/t 10| siad = 99 9 W)
e 1 frfafea § @ 0 @ o 93 | 9 % (YaTe) 98E h aR § 98 7 2

(a) TrIam &8 9 UM Sifishad /@1 o WY STER ST
(b) A BT W M HAH I o T AR ST

(c) Ut BT I UM THH €I F G MM

(d) frrae 2% 9 ot stfeshad g W firem

(e) =9 BT | 9T Ay g X fem

() =t =3 9 g wEE @ ) e

(1) (a) 3R (d) 2 (o) 3R (f) (3) (a) 3 (e) 4)  (b) 3 (e)

80. Which of the following is not a feature of alternate conceptions in science ?
(1) Ideas do not demonstrate cause and effect reasoning.
(2) Ideas are stable.
(38) Ideas are resistant to change.

(4) Ideas are developed from observable features.

frfafaa § 9 wF @1 faam & Sefeus smayromst & fawar 7@ € 2
(1) =R, ®R iR gumg q i el & wd ¥ |

) foeRferzm ¥

(3) four uftads gfae 2 €

(4) fouR seciRiga fosvast & fosmfaa aa €
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81.

82.

83.

1 3
An object floats with Zth part of its volume outside the liquid when put in liquid A and Zth part
of its volume outside the liquid when put in liquid B. Which of the following statements is true ?
(1) The densities of liquid cannot be compared on the basis of above information.
(2) Density of liquid A is greater than density of liquid B.
(3) Both liquids have same density.
(4) Density of liquid B is greater than density of liquid A.
. 1

Teh %] 1 59 59 A T ST6T ST § 90 98 5 o 918 397 Ta " (T STE) R & WY XA 7 qen

. 3 .
S %9l B H STCll Sl ¢ T 6 7o o ofed A TG % (A =He) 701 < wer el €1 ettt J
T B W F T E?
(1) U A1 & STMER W gal o Tcl bt Gerl Tal bt ST Fehal 8 |
(2) I A T U@, 59 B % T 9 ITUH T
(3) T gdl P GUH T g
(4) I B H EAA, T A F A 9 AHF T |
A class VII teacher plans to identify alternate conceptions of students in the topic “Adaptations in
plants and animals’. Which of the following sets of strategies is best suited for this purpose ?
(1) Project, checklist, drawings
(2) Drawings, checklist, interview
(3) Portfolio, group discussion, diagnostic questionnaire
(4) Diagnostic questionnaire, interview, drawings
HeTl VII 1 Uah frerss el @R Sfa-siqstil § tqsge ' fawa W foenfeli =t Jenfeus staamonsii i
TEAM A I ASH 941 8| 39 3299 & e FrAfafea wHifadi & aq=aa § 9 iF-a1 gaffes Suge
€7
(1) g (afEsE), Sa-geEt, s (fasiis)
(2) e (fostis), Sia-gH, e
(3) dRmIfce (TYF), Wik g, SR e
(4) IR YIATeAl, HaTTehR, SR (T )
Which of the following is not caused due to excessive use of fertilizer and pesticides ?
(1) Bio-magnification (2)  Soil erosion
(3) Nitrification (4) Eutrophication
SAEh! Te HISTRIR ol $Aq TI & HR0 Fafafed § § S @1 78 o © 2
(1) 4 TEEA (2) &I I
(3) TEERRT (4) g™
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84. Identify the mirrors on the basis of information given in the following table :

Mirror Nature of image Size of image
A virtual and erect same as object
B real and inverted same as object
C real and inverted enlarged
D virtual and erect diminished
(1) A - Concave, B - Plane, C - Convex, D - Concave
(2) A -Plane, B - Convex, C - Concave, D - Convex
(3) A - Convex, B - Concave, C - Convex, D - Concave
(4) A - Plane mirror, B - Concave, C - Concave, D - Convex

Frefafed aroft § < € go1 6 STUR T Y0 i 989 HIfT

g gfafsrs &1 wefa | wfafara &1 a1
A FTTT TR Heaeie T o THTIET

B IrEdfoe AR TTTAHG | %] o GHIgEYT
C |arfass iR widaia EEIEG]

D STTTE SR FHedefie TR H Brel

1

3
4

85. Sunita drops a piece of potassium metal in a beaker of cold water and notes down the observations.

A - 39dd, B - A, C - 3799, D - 379dd

A - 399, B - 31@dd, C - 31690, D - 1ada

(1)
2) A-¥HAA, B - @, C - eqa, D - @
(3)
4)

A - 9Hqd, B - 3{add, C - 3fadd, D - 376Hd

Which of the following observation is not correct ?

(1) Pop sound is heard.

(2) Potassium reacts violently with water.

(3) It is endothermic reaction.

(4) Hydrogen gas is evolved.

Gt Sfiastet o SR § WM g 1 Ueh gohel STd Sl § qeN STaciiehl ol foradt €1

Frefafed § @ 99 91 sterclis 98 & 8 ?
(1) e &A1 gaE <t T

2

4

P-XT {IIEART TR nm

(2) efiEm W@ F Wy g w9 Afufhar wr T
(3) =8 oA sIfufmer ¥
(4) TSNS 9 fosfad gt T

32




86.

87.

Read the following statements and choose the correct option :

S1 - Photosynthesis is endothermic reaction.

S2 - Respiration is exothermic reaction.

(1) Sl is false and S2 is true. (2) Both S1 and S2 are true.

(3) Both S1 and S2 are false. (4) Slis true and S2 is false.
= few el 1 ufeu R W& W F S FIT

S1 - TERTRT HECTTOT eI SAffshan B |

S2 - TaE At sTffsRar €1

(1) S1 7o § 3iR S2 ¥l g (2) S1 3R S2 T wE ¥
(3) S1 2R s2 <Ml et € (4) S1 9& T 3R S2 TTerd ¥

Which of the following statements is/are true regarding Rainwater harvesting ?

(a) It conserves ground water.

(b) Tt reduces local flooding.

(c) It creates drainage problems.

(d) It can be used for irrigation of crops.

1) (), (o) (d) (2 (@), (b), (9 3 (@) (9 (d) (4)
frefefaa & | o 9/d wee aui-siel eI & o) § 76 8/ ?

(a) IT - KT TIE FIA B |

(b) TS LT AT hl FHH HIT & |

() I v Fepre Heleht Tweansti sl a1 L €|

(d) S ITAR ®Ea i AR & fog foran s g g

1) (b) () (d) (2) (@), (b) (9 3 @, (©) () (4)
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88. Which of the following activities is best suited to develop inductive reasoning ?
(1) solve numerical problems based on law of reflection
(2) asking students to state laws of reflection

(3) asking students to measure angle of reflection for various cases of angle of incidence in a
plane mirror

(4) verify laws of reflection experimentally

frefafea & @ FA-9t wfafafy s fag=m & fog qaffus suge 22

(1) ™ad & | R anefia den fows (deres) auensti & ga S

(2) TornfeR = wrerds o fram sdm & fore swe

(3) foenfeiai 1 w9ael Y0 § SATIdH-hI0 o fafa= Al < fore arerd=-shror Jraq o fag e
(4) TIRTCHSE &9 ¥ TEd & ol sl genfud e

89. Two sperms of a man fuse with two eggs of a woman. The twins formed are :

(1) always conjoint (2) identical

(3) fraternal (4) may be identical or fraternal
%Y % 31 YR S % < et (f8) % 91 ferd €1 9 el Jedi e

(1) Hd S (2) wHEY

(3) ¥ei= (4) THEY N YT & Tohd €

90. Which of the following statement is not true regarding conduction of heat ?

(1)  All materials do not allow heat to flow through them in same way.
(2) Conduction is faster in solids than liquids.

(3) Two objects should be in contact with each other for heat flow.

(4) Conduction does not take place in gases.

freAfafed & | M O A a9 % =eH & IR § 98 TE@ © 2

(1) |l geref (IEirET) S R = ¥ 99 YR § YaifEd e ot STAfd T ad /< §
(2) =al & g B 3 aegei H = g g ¥

(3) W1 % YaTE o foru < el i Ush-g8 & WYk § BT 1S |

(4) T H e e @
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IMPORTANT | Hgeaqof :

Candidates have to do questions 31 to 90 EITHER from Part - II (Mathematics and Science) OR from
Part - 1II (Social Studies / Social Science).

witenfsfat @t 9T 31 @90 AT at WTT - 11 ( T & G777 ) AT 9T - 111 ( §TETfSTeR 379/ |THTfoTeh
faFr) & #3731

PART - Il / ¥ - 1
SOCIAL STUDIES / SOCIAL SCIENCE - A& g+ / Arifore fasma

Direction : Answer the following questions by selecting the correct/imost appropriate options.
Fder : reAeTiaa 5ol @& S o4 % [o7q Wel, Head Suger fashed Ia :

31. Match the following columns and choose the appropriate option :

Sphere of the Earth Feature
(a) Lithosphere (i) Plant and Animal Kingdom
(b) Hydrosphere (i) Made up of rocks and minerals
(c) Atmosphere (iii) Various sources of water
(d) Biosphere (iv) Thin layer of Air
1) (@)-@v), (b)-(0), (0)-(ii), (d)-(iii)
) (a)-@), (b)-(i), (c)-(iii), (d)-(iv)
(3)  (@)-(i), (b)-(iii), (c)-(iv), (d)-(0)
4)  (a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
Frfafead # 9 @&t sifedl =1 faam s
gedt & A fargremr
(a) TUHESA (i) ey W S-Sy
(b) SAHESA (i) =eH TE Qs 9 o gl
(c) dgHSd (i) & o fafv= €@
d) SaHed (iv) 9T qdel T
1) (@)-(iv), (0)-(0), (c)-(ii), (d)-(iii)
) @-(), (b)-(ii), (c)-(iii), (d)-(iv)
() (a)-(i), (b)-(iii), (c)-(iv), (d)-(0)
(4)  (a)-(iii), (b)-(iv), (0)-(i), (d)-(ii)
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32.

33.

Which of the following statements is/are true about technological development in temple
construction from the twelfth century ?

(a) The weight of the superstructure was carried by the shikhara.

(b) Sandstone mixed with stone chips was increasingly used in construction.
Choose the correct option :

(1) Both (a) and (b) are incorrect (2) Only (a) is correct

(3)  Only (b) is correct (4) Both (a) and (b) are correct
frefafed § @ 9 o1 weH aRed! ddt S w5 i § gy forey famm aw-es & faw & an # 9@
g2

(a) AT A1 AR foredl o eret foan i e

(b) T7afor & Sqe-TeeR o WeR & VIS THS| o THH0 H1 I & FAFT S o |
e oo o1 =97 |

(1) (a) 3R (b) I W& 7 & (2) A (a) TA T

(3) el (b) W& ® (4)  (a) 3R (b) I WL &

Match the following concepts in Column - I with their examples in Column - II and choose the
appropriate option :

Column - I Column - II

Concepts Examples
(a) Discrimination (i) Differential pay for same work
(b) Inequality (i) Villagers are superstitious
(c) Stereotype (iii) Womannotallowed to be hired since she is starting a family
(d) Prejudice (iv) Girls are good at cooking
(1) (@)-(ii), (b)-(), ()-(iv), (d)-(ii)
(2)  (@)-(iid), (b)), (c)-(i), (d)-(iv)
) @-(iv), (b)-(i), (c)-(i), (d)-(ii)
@) (@)-(v), (b)-(iid), (c)-(1), (d)-(i)
WY - 1 ! Ffafed Seeasii &l T - 1 H ST T 376 IS0l 9 gHfad ity IR Suge faswey
I

W -1 WY - 11

. <
(a) HIWE () H9E M % foTu ster S
(b)  STEHEFA (i) TTHATH Sfufavar €
(c) Sfeafea (ifi) HfEET 1 USTR 1 STTA T & i I8 INAR Y& L @l ¢/
Tt §

(d) YAHRT (iv) cTefRal @M1 I/ 9IS ThH H 3Tt §
(1) (@)-(id), (0)-@), ()-(iv), (d)-(i)
(2)  (a)-(ii), (b)-(1), (c)-(ii), (d)-(iv)
) @-(iv), (b)-(i), (c)-(), (d)-(iii)
@) (@-(iv), (b)-(iii), (c)-(), (d)-(ii)
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34. Which one of the following is not correct for grama-bhojaka ?

(1)
()
)
(4)

He did not function as a Judge and policeman.
Usually, men from the same family held the position for generations.
He had slaves and hired workers to cultivate the land.

The king often used him to collect taxes from the village.

frefafed 9 | F 91 IH- St o fa w28 78 § 2

F AN IR gferd 1 e TE w9
TR T & IRER o AN 39 98 W s difgdl ah o &d 9|

STh! STHIM TR Sk Q9 3R AT 1 T 9 |
TITel ST T G hT HTH TS TR T8 & U9 < 9|

35. The Mughal revenue system with its own schedule of revenue rates for individual crop was
called :

(1)

Iqta (2) Jagir (3) Zabt (4) Zat

e o e fored R wHa o folu, Toed <X i STerT Yot a8 39 ed | ¢

(1)

ECl (2) SR (3) = (4) @

36. The category ‘erstwhile princely states” was applicable :

1
2
3

(
(
(
(4

)
)
)
)

to none as no such category existed in India.
at the time of Independence around 1947-48 only.
between 1947-48 and 1956 when they were recognised as administrative units

in the post-1956 when they were no longer retained as administrative units.

‘gl farea’ goft e of

fordt W off 7 =ifer wRa H T g Foit fommm 7= o)

TIASAT o THI heldl 1947-48 < 379 U9 |

1947-48 37X 1956 F < 59 3% YMHTh SR o &9 H A=yar el |

1956 % TG STd 375 GRIH(eh 3eh1gdl & &9 H gIfard &1 @1 14|
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37.

38.

39.

The Indian National Congress in the early years raised a number of economic issues against the

British. Choose the correct option.
(i)  The Congress declared that the British rule had led to poverty and famines.

1

~

It demanded reduction of revenue and cut in military expenditure.

iii) Congress demanded more funds for irrigation.

1) Only (ii), (iii) and (iv) are correct (2) Only (i) and (ii) are correct

3) Only (ii) and (iii) are correct (4) Only (i), (ii) and (iii) are correct

RIS Tl H YRATT T HiId A 3{US & FEgarh 9gd 9R ST e 33T | Wal SR I A1 Y |
i) I 1 e o1 foF wRa # fafew o & o | & e iR ot Ue W/ B
ii) T8 O A, T I %8 fRa S qen wist @=t § wdt Sl W

iii) T8 o= % for sifues SR @t =

(
(
(
(iv) TH TARSH R % Faar sfrerst e |
(
(

(
(
(iv) It raised the voice against entertainment tax.
(
(

1) ad (ii), (iii) T (iv) &I | (2) F9d (i) TS (ii) TE ¥ |
3)  Fad (i) T (iii) T | (4)  HIA (i), (i) T (iii) TS T |

Who coined the phrase, “Unity in Diversity” ?

(1) Sardar Vallabh Bhai Patel (2) Pt. Jawaharlal Nehru
(3) Mohandas Karamchand Gandhi (4) Subhash Chandra Bose
fafaear § wwar’ g feaa fean ?

(1) WER IEANYRE 9o A (2) dfed SemeteTd T8E
(3) IR AT T J (4) Gam™ =g 99 A

Which of the following is true about Ashoka’s dhamma ?

(a) It did not involve worship of a god.

(b) It did not involve performance of a sacrifice.

(c) The ideas of dhamma were inspired by the teachings of Buddha.
(d) Ashoka appointed Buddhist monks to teach people about dhamma.
Choose the correct option :

(1) Only (a), (b) and (c) (2) All (a), (b), (c) and (d)
(3) Only (a) and (b) (4) Only (b) and (c)
frafafad & § =1 W Fua owiE & g7 foawe J w2l 82

(a) Y TRE! <ol i IS S STERIRT @l o |

(b) T fRdl el FHHbiS Hi ATALARAT Tal off |

() ¥ F faar 95 & 3w 4 9fka 91

(d) <ril @ gt e <9 % fau ol 7 drg faggsti =t fgfea =t

e faehed 1 =97 L |
(1) 9 (a), (b) T (c) @) (a), (b), (c) T (d) |t
(3) e (a) AT (b) (4) e (b) AT (0)

P-XT {IIEART TR nm 38 L



40.

41.

Below are two statements (A) and (B) in the context of Shri Narayan Guru.
(A) He advocated equality of all within a single sect or caste.

(B) He inspired all of them to have faith in all gurus.

Choose the correct option :

(1) (A) is false but (B) is true (2) Both (A) and (B) are true

(3) Both (A) and (B) are false (4) (A) is true but (B) is false

T <1 e (A) 3T (B) At TR TR % Hedd # ¥

(A) ST STTER ORI HFEdl S Uk & i § |

(B) 3R |t &l weft esi H fowerw W ok forw U@ forar |

et foshed &1 =9 R |
(1) (A) 7ol § oifsh (B) 9l © ) (A) 3R (B) I W €
(3) (A) 3R (B) T Terd & (4) (A) Tl € AfHA (B) Told &

Match the following in the context of people and objects in ancient times and choose the appropriate
option.

A B

(a) Barygaza (i) Stamped red-glazed pottery

(b)  Shrenis (i) Bharuch

(c) Arretine ware (i) Independent farmers

(d) Grihapatis (iv) Associations of crafts persons and merchants

1) (@)-0), (b)-(i), (c)-(iv), (d)-(iii)

() (@-(i), (b)-Gv), ()-(), (d)-(iii)

() (@-(i), (b)-Gv), ()-(iii), (d)-()

) (@)-(v), (b)-(iii), (c)-(1), (d)-(i1)

ardta o el 9 awgell & Hed # frAfafaa w1 faem wifse ok Suged fawey &1 g Sifag |
A B

(a) TS () T T ATA-THRSR oA

(b)  Soft (i) %A

(c) TERA U= (ili) AT FH

(d) TEufd (iv) TreusRri qen =rafEl o |6

1) @), (b)-(ii), (c)-(iv), (d)-(ii)

(2)  (@)-(), (b)-(iv), ()-(0), (d)-(iii)

() @-(), (b)-(iv), (c)-(iii), (d)-(3)

@) (@-(iv), (b)-(iii), (c)-(), (d)-(ii)
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42.

43.

Consider the following sentences (A) and (B) about motions of the Earth and choose the correct
option :

(A) Rotation is the movement of the earth on its axis.

(B) The axis of the Earth which is an imaginary line, makes an angle of 33%0 with its orbital
plane.

Choose the correct option :

(1) Both (A) and (B) are incorrect  (2) Only (A) is correct

(3)  Only (B) is correct (4) Both (A) and (B) are correct

gealt &t il o IR § fou v fAfafeaa wemi (A) 991 (B) W foem & don 9t fased &1 gama & |

(A) TSt T 3TU 318 T THEAT UM FHEAT T |

(B) Y 1 3¥&l Ueh ShTeueh 1 €, S A1 efid Fae | 331°, 1 <hror wwt 2

e faseq &1 =39 H|
(1) T (A) 99T (B) TTerd § (2) Hadt (A) TR
(3) %ad (B) W& ® (4) T (A) 71 (B) T

Consider the statements (A) and (B) about Paramountcy and choose the correct answer :
(A) The Company claimed that its authority was not supreme.

(B) In order to protect Company interests it was justified in annexing or threatening to annexe
any Indian Kingdom.

(1)  (A) is false but (B) is true (2) Both (A) and (B) are true

(3) Both (A) and (B) are false (4)  (A) is true but (B) is false

(A) 3R (B) FeHl W Hateadl & Hed H foam Sifaq 3R H&l ST 1 =9+ St |
(A) U A < fopan fob S9en sifueR watea =T ol

(B) 31+ fedi &1 & & folu a8 9Rdia RAadi &1 AR o3 a1 7! ST i g0l <o &l
SATYPR HIUAT T T AT off |

(1) (A) 7Ted § ifehd (B) Wl B 2) (A) 3R (B) IHi T 1
(3)  (A) 3 (B) T e €| @) (A) T@ T AfFT (B) TE@ 2
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44.

45.

Which of the following statements are correct about Amazon basin ?

(a) This region is characterized by hot and wet climate throughout the year.

(b) People practice ‘slash and burn’ agriculture.

(c) People mainly grow paddy.

(d) Aircrafts and helicopters are also used for reaching various places in the basin.
Choose the correct option :

(1) Only (a), (b) and (d) (2) Only (a), (b) and (c)

(3) Only (b), (c) and (d) (4) Only (a), (c) and (d)

S A & o H FreAfefed § 9 % | wud w8 ¥ 2

(a) TR od Fgl T R T ety &l 2|

(b) T&T A ‘A 9 &’ HT F T

(c) TN JE&Id: ¥ 3 ¥ |

(d) T | =g T Tk TgoH o fIT FATESTRTSH qe RefteRredl b i T fohan S 7 )
T ferened o1 == |

(1) 5 (a), (b) T (d) (2) 9 (a), (b) T (c)

(3) A (b), (c) TN (d) (4) 9 (a), (c) T (d)

Choose the measures to control soil erosion and depletion from the following.
(@) Mulching (b) Over grazing
(c) Terrace farming (d) Inter cropping

Choose the correct option :

(1) (b), (c), (d) only (2) (@), (b), (c) only

3) (@) (c), (d) only 4)  (a), (b), (d) only
frfafed § 9 gar oTwed iR afforar o1 A s o Uil a1 == Sif |
(a) e oM (b) Afa =

(c) dfceh wH (d) o= H HEA I

e forehcd 1 =g |

(1) e (b), (o), (d) (2) A (a), (b), ()

(3) A (a), (o), (d) (4) A (a), (b), (d)

P-IT {IEART A nm 41



46. The rocks that were formed 300 million years after the earth was formed, is :
(1) located in the Himalayan region
(2) considered as youngest rocks in the world
(3) located in Western Australia
(4) located in Eastern Europe

geaft i It o Sred, S et & i & 30 FRIg 9 gvER 9, ©
(1) fearer & # feorg §

) fova =t TEae I 7T S §
(3) ufter sefern § feora €
(4) ot 709 H feom €

47. The opening time of Central Government Offices in India is 9:00 a.m. IST, what will be the local
time of opening of the Central Government Offices located at 80° East Longitude near Chennai
and 92°45' East Longitude near Itanagar, respectively :

(1) 09:41 am. and 08:50 a.m. respectively
(2) 0910 am. and 08:19 a.m. respectively
(3) 08:19 am. and 09:10 a.m. respectively
(4) 08:50 a.m. and 09:41 a.m. respectively

IRA H Fd TR el & Geid F THF GaIg & 9:00 1 [ST (IR A THA) T, A =18 o I
AW 80° Yo QUG TUT SSTR & I 92°45' Yo SRMIaX o 9 feord sheftd iR wEferdl & ged
T HE HAT: S BT 2

(1) SRER: GaIg & 09:41 S qAT g o 08:50 o

(2) SHER: GoIE % 09:10 IS qAT GoIg h 08:19 I

(3) AN GAT % 08:19 IS TAT AT h 09:10

(4) SHES: GAT % 08:50 TS TAT AT h 09:41 oS

48. Consider the two given statements (A) and (R) and choose the appropriate option :
) : Those places West of Greenwich will be behind of Greenwich time.
R) : The Earth rotates from east to west and sun rises early in eastern side.

(A

(

(1) Both (A) and (R) are false

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(4) (A) is true and (R) is false

feU TTT el (A) 1 (R) T Torem SifSe qen w&t forered =1 gAma HifSw |
;S e i o ufvem | €, 3T w9 e 9 9@ =
: gt g | uftad @i SR wee) oIt ® qen g e feen # Sedt 3 g1

Z2

(

(

(1) T (A) T (R) 7o € |

(2) < (A) qen R)W@%T‘Wﬂ ), (A) F1 TE TS |
(3) S (A) T (R) W& € foReg ( R), A) F1 TE DI T 2
(4) (A)W“f%am(n)nm%
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49. Who among the following edited newspaper Kesari which became one of the strongest critics of

the British rule ?

(1) Lala Lajpat Rai (2) Jyotirao Phule

(3) Balgangadhar Tilak (4) Mahatma Gandhi

frAfafea § @ oM Fo9 HE @R, S fSfest Imee #1 Hgd STl o9 71 o, 1 TUeeH o ?
(1) el aeYa T4 (2) SAfaUE Fod

(3) TR faeeh (4)  HETCHT el

50. In a physical map of India if you have to locate the Deccan Plateau, it will be represented by the

colour :

(1) yellow (2) orange (3) brown 4)
WA % e A # AfS ST Sk & TR I Tl § I, 7 fhd 1 9 Rt T 2w ?
(1) e () = @) o ) w

green

51. Match the following pairs and choose the appropriate option :

Rocks Origin/formation
(a) Igneous Rocks (i) Change under great heat and pressure
(b) Sedimentary Rocks (i) Molten Magma

() Metamorphic Rocks (iii)

Deposition by wind and water

Choose the correct option :

(4)  (a)-(iii), (b)-(i), (C) (i)
freferfaa el 1 faem sifse 3R Suge fased 1 gma Hifee
v et/ fmtor
(a) 3T I (i) =9 A9 S <& % RO gRafid 8 S §
(b) STEERT A (i) wfaa H
(c) HrEmaRa S (iii) T TR STt TS o SR T T ¥ TR T T TR, A 1 fqu
Bk
w& foshed &1 =57+
1) (a)-(), (b)-(ii), (c)-(ii)
) (a)-(), (b)-(ii), (c)-(iii)
() (a)-(i), (b)-(iii), (c)-(i)
(4)  (a)-(iii), (b)-(1), (c)-(ii)
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52.

53.

Consider the following statements about Ladakh and choose the correct option.

a) Several rivers flow through Ladakh.

b) Due to high altitude, the climate is extremely cold.

d) This area experiences freezing winds and burning hot sunlight.

1) Only (a), (b) and (d) are correct (2) Only (a) and (b) are correct

(

(

(c)  Despite being in the rain shadow of Himalayas, there is high rainfall.
(

(

3

)
) Only (a), (b) and (c) are correct (4) Only (b), (c) and (d) are correct
e % 9R H fou e = Fuel W faem wifse qon w@ fased &1 g wifew
(a) TERE ¥ TR wgd 9t At st €

(b) A FE B F HRO TRl ht erdg TAYE S T

(c) Tearer & gftc o & # 29 & FreNE F8 S aul I S €

(d) IT & TRich gansil U aS ST aTel ard SRl 3TN il ¢ |

(1)  Had (a), (b) T (d) T T (2) HaA (a) T (b) T

(3) Wad (a), (b) T (c) Tl ¥ | (4) HaA (b), (c) 94T (d) T T

Women were taught at home in nineteenth century colonial India because :

(a) they could study as well as do domestic duties.

(b)  people believed that going out in public places would corrupt them.

(c) people wanted to hide the fact of their education from relatives and friends.
Choose the correct option :

(1) (a), (b)and (c) (2) (a)and (b) (®) (a) and (c) (4)  (b) and (c)
St gt o Sfufafiie ard | aefwdl S s W E vern S o FifE

(a) O UQE h AT B FH H FHF |

(b) N I 9 o A THl WS | F forg S |

(c) N oTq Haifei W sl ¥ ITent f1en o qea o 9ed 9|

T Torsheq 1 =97 A |

M @O Q) (@) W) () (@) 3R () (4) () 3R ()
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54.

55.

Below are two statements (A) and (B) in the context of leather workers in 19t century.
(A) During the First World War there was a huge demand for shoes for the armies.

(B) The poor people from ordinary castes saw this as an opportunity and were ready to supply
shoes for the army.

Choose the correct option :

(1) (A) is false but (B) is true (2) Both (A) and (B) are true

(3) Both (A) and (B) are false (4)  (A) is true but (B) is false

F= § FHUA (A) 3R (B) 19 VAT H THS T HW HE A b G H T

(A) e fava g5 % SR I o For [l bt STeReEd A Ser 8 T off |

(B) T STl o TS @M A $9 TSR ol <@ 3iR 91 g S[d 3T o feg dam = T
T forened w1 =19 &L

1) (A) Ted € SAfer (B) 9t ® 2) (A) 3R (B) I T &

3) (A) 3R (B) <Hi T € 4) (A) W& T Aferd (B) 7o §

A population pyramid with big base and skinny top shows :

(a) High birth rates

(b) High death rates in higher age group

(c) Relatively large number of young population

(d) Large number of deaths of infants

Choose the correct option :

(1) Only (a), (c) and (d) (2) Only (a) and (b)

(3) Only (a), (b) and (c) (4) Only (b), (c) and (d)
Teh oS MR 3R Tdqell =Nt arel sHee fofie g @ ¢

a) SHIHI

b) g G T H I=H G K
¢) qoIcHE &9 § U Jar sHEen

(
(
(
(d) Torgsti & g =1 sifyes /9@

Ha faered =1 =31 S|
(1) e (a), (c) a1 (d) (2) had (a) AT (b)
(3) o (a), (b) Tl (o) (4) A (b), (c) T (d)
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56.

Archaeologists play an important role in deciphering history. Which one of the following choices

is incorrect about their nature of work ?

(1) Examine the written records

(2) Study the remains of buildings, paintings and sculpture
(3) Explore and excavate tools, weapons, pots, pan, etc.

(4) Look for bones of animals, birds and fish

e i Tefard 1 1ef fehrer/ forem § quawatog, T Aewayyl i fv €1 Frefafed § 9 316

STH i Thid oh S H I G T&I T4 © 2

(1) fafea sl () #t s

(2) e, Tl (YfETR) wd gidei & sTaRi 1 ST
©)

(4)

3) IS, i, s, 4, snfe =t Wit & forg sH-«ia 3R gare

4) o, e, Ffer i afE g

57. Which of the following is/are correctly matched ?
Crop Required Climatic Condition
(a) Coffee - Cool and dry climate
(b) Tea - Warm climate and high rainfall
Choose the correct option :
(1) Neither (a) nor (b) (2) Only (a)
(3)  Only (b) (4) Both (a) and (b)
= # 1 91/ F-8 I8 92 gafad 8/8?
wEA TAYTF SeTeaferd I
(a) HI®! - 3 SR U Sy
(b) =M - TH Sorer iR 3= 9ut
& foeheq 1 =91 sifsw)
(1) Al (a) ARTE (b) (2) o (a)
(3) Had (b) (4) (a) T (b) SHI
58. Which layer of the atmosphere has very thin layer of air ?
(1) Mesosphere (2) Thermosphere (3) Exosphere 4)
aRHed i fohd Wa | 91 H1 9gd Udel TRd Bl § ?
(1) weFHEd (2) W@ agHed  (3) ifgHed 4)
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59.

60.

61.

62.

Watan Jagirs were given by Akbar to which of the following chiefs ?

(1) Indian Muslims (2) Sikhs

(3) Marathas (4) Sisodiya Rajputs
3R A TefafEd o 9 for TERi 1 a7 SR feam o ?

(1) YRAHE GEAAM ) o=

(3) W& (4) ToEcen TSyal

The Government has passed laws that made it mandatory for organisations with more than
women employees to provide creche facilities.

1) 30 2 10 3) 15 @) 25

THR A TH I ik fore & forem 37 wrei | sarcrenet (she gfaen) sifard foman & sel afgen wH=naEt
calkere) q Afyen 7|

1) 30 2 10 3) 15 @) 25

Consider the statements (A) and (B) and choose the correct option :
(A) The natural sciences are superior to social sciences and are the domain of bright students.

(B) The social sciences are essential to provide social, cultural and analytical skills required to
adjust to an increasingly independent world.

(1) (A) is false but (B) is true (2) Both (A) and (B) are true

(3) Both (A) and (B) are false (4) (A) is true but (B) is false

FUF (A) 3R (B) R foaR FifSw iR & fasew g

(A) TThfaen faam amfses faam & 9 iR 718 Ser faenf =1 & % |

(B) TSI o |, witshfaen 2R faverovia Siere &1 oM w & fau emevas § i admr
wd fava § Tu=g SeM & fog stevaes g |

1) (A)39E ¢ g (B) T 2) (A) 3R (B) 3 T §

3) (A) 3R (B) M o9 § 4) (A) ¥ % fog (B) o9 ©

Which of the following technique is most effective to assess individual performance of a student
working in group task ?

(a) Rubrics (b) Multiple Choice Question

(c) Presentation (d) Portfolio

Choose the correct option :

1) @and(@ () @and(® () Mand(© (@) (o) and (d)

Frafafead § & HH-w geaie fafy Tad Saret Suge 2t STafeh 9 Sle-Bie Tel | &M o | o 3k

BT 1 ST ST Hedliha HET 2 ?

(a) TER (b) wEfamedd T9d

(c) HifEs TR (d) HEwIEE

Hal faed =1 =31 S|

(1) (a) TT(d) (2)  (a) T (b) () (b) T () (4) ()T (d)

P-IT {IEART A nm 47 L



63.

64.

A large number of people in rural India who are landless, although their main livelihood source is
agriculture are called as :

(a) Marginal farmers (b) Migrant labourers
(c) Agricultural labourers (d) Small farmers

Choose the correct option :

(1) (b), (c) and (d) only (2) (a) and (b) only

(3) (b) and (c) only (4) (a), (b) and (c) only

TTHIOT 9RA T oS §E&A § S A YA €, Sdich Seh! Sfifaeht 1 & &d i T, Hedd © ¢
(a) HHiq fREm (b) TeTH! e Heigy

(c) M A d) B foram

|E foeheq 1 937 |

(1) e (b), () 3 (d) (2) 9 (a) 3R (b)

(3) e (b) 3R () (4) A (a), (b) R (0)

Involving teachers is considered important in the development of social science assessment
framework to :

(a) integrate contemporary events and prevailing changes.

(b) make curriculum and evaluation only subject-centered and to limit its scope.

(c) save time, labor and money by using teachers only as a resource.

(d) make necessary changes according to the level of teachers by using the experiences of teachers.
Choose the correct option :

(1) (a) and (b) only (2) Only (a)

(3) (a) and (d) only (4) (a), (b) and (c) only

ATt for ¥ T S i e %1 mier Feest we e

(a) TEEMIH HASH AR Faferd TRecl Sl THERE & & fa |

(b) UTST=Al IR AR I hadl [0 Shigd I Ta Sa=dl o IR I WiHd H & faw )
(c) had ferehi 1 Teh FEEA & €9 H THHE H T, F7 3R &9 Ht I9q HH & fau|

(d) TR & STVl o SEIHTCT o gRI Faiehi o TR o 3TIEY STewaeh Iiedd s o fog

& fahed 1 =9 H |

(1) 9 (a) 3R (b) (2) 9 (a)

(3) T (@) R (d) (4) F (), (b) ()
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65. Read the Assertion (A) and Reason (R) statements and choose the correct option.
Assertion (A) : Students should be encouraged to ask questions in the classroom.
Reason (R) : It will help the introvert students to open up.

(1) Both (A) and (R) are false.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

IR (A) 3R Tk (R) 1 Ufew qen wet fasheq &1 == wifee |
ke (A) :  Torenfofai = han o gv9 Yo ¥ Uieafed foran ST =few |
qeh (R) : 78 S fanfei=i = Yor o Tere T |

(1)  (A) 3R (R) ST Tora |

2) (A) 3R (R) I T&I € 31X (A) T (R) HEl AT Ll < |

3) (A) 3R (R) I =& T AAfh (A) T (R) Tt A Tl B 2

4) (A) §& T Afd (R) TeTd

66. Which method would you use to collect information about the actual and correct status of

earthquake victims in your area ?

(1) Problem-solving method (2) Inquiry method

(3) Survey method (4) Project method

319 3194 &1 & yehy difed safaqail i arfoen 9 w&l feafd o sk 3 SHeRT Tanf>a e o fore forg fafy
EARRINIETU W

(1) wEE-gHYE fafy (2) Qe g fafy

() wag fafy (4) i fafy

67. Project method in Social Sciences involves
(@) Activity (b) Discussion
(c) Experiment (d) Narration
Choose the correct option :

(1) (c) and (d) only (2) (a), (b) and (c)
(3) (a), (c) and (d) (4) (a) and (b) only
wrifses for # wfEs wgfa 9 wfder € |
() e (b) ==l
(c) wam (d) o
U@ fohey 1 = H|
(1) e () T2 (d) (2)  (a), (b) T (c)
(3) (@) () Far(d) (4) A (a) T (b)
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68.

69.

Consider the following statements Assertion (A) and Reason (R) in relation to the nature of Social

Science and choose the correct option.

Assertion (A) : The social sciences have developed their own distinct methods for dealing with
facts in an objective and systematic way.

Reason (R) : Unlike the natural sciences, in Social Science it is difficult to insulate the observation
and analysis of facts from the pressures of popular sentiment.

(1) Only (R) is true

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)

(3) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(4) Only (A) is true

grTteieh foem i Yehfa o deau # frefafaa sl ifuered (A) 3R @eh (R) W fa=m wifaw qon w&
forehed 1 == whifSIT |
AMURIT (A) : GRS faa™ = qeaii | I&gTd Ud shHelg °rl (YhR) | 92 ¥q 10+ e &t fafire

faferar famfaa =t €1

e (R) : TThfaeh foam & T4 (o78ewn), 9t fag™ H defya vraisli o <are 9 a2l <
TR TS faST0T Sl Yereh HEAT hfcd Tl

(1) %ad (R) T&l T

2)  (A) 3R (R) I T € 9901 (R), (A) FI GE AR R |

(3) (A) 3R (R) I W € T (R), (A) T HE A€ T T

(4) e (A) HE B

Which of the following are essential elements of a fair trial ?
(a)  The trial is held in an open court.

b A copy of charge sheet and all other evidence that the prosecution presents to the court are
Py g p p
given to the accused.

() The defence lawyer is not allowed to cross-examine the prosecution witnesses.

(d) Judges decide the matter on the basis of the statements articulated by lawyers.

Choose the correct option :

(1) Only (b), (c) and (d) (2) All (a), (b), (c) and (d)

(3) Only (a), (b) and (c) (4) Only (a), (b) and (d)

1 & 9 FH-9 fasrea froqe gAarE & Joyd 7@ 2

(a) THCHT ST % T el STeerd § el < & |

(b)  STRIU-TF IR Al &1 R U9 foh 7w weft el it W wfa TR 1 & S §

(c) IE Ul % Fehict ohi SIS T i TR | U1 fohT 7T AR Tael | g e o1 Hisht 721 fean S
€|

(d) AT ST o WA Fehicl R fU T el o STHR R HEer i ¢ |

T forshey 1 = |

(1) 9 (b), (c) T (d) @ (@), (), () T (d) T+H

(3) A (a), (b) T (c) (4) A (a), (b) T (d)
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70. Lata sells tea at 5.00 am. She then goes to fetch water from a far away well. After reaching home
she cooks food, washes clothes, cleans the house, sweeps and then goes off to purchase items for
her tea shop. All this can be referred to as :

(1) Paid work (2) Care giving (3) Double burden (4) Housework

A1 GIE 5 I1 A S § 1 IHh A 9% 9gd X FU H T IR Al € 1 ¥R Ug= o 9E 98 WM S
¥, HUS oIl T, X I THE FAT T, F-UST HA T 1 SHP ULAN T8 3T 91 i G & foIT A
TE FR A S| T T HET Bl FHel S Gehal © |

(1)  TaH & 2) <@IA wH (3) TR 4) TEHHE

71. Which of the following questions assess the analytical aspect of the cognitive process ?
(a) What are national curricular objectives which can be achieved through heritage projects ?

(b) How are methods of history useful in the research of (a) science; (b) art and management
studies ?

() In how many regional languages and local dialects ‘VividhBharati" programmes
are broadcasted ?

(d) Write a review on two historical serials you have watched.

(e)  What are Bharuds ? In which region / State this is popular ?
Choose the correct option :

(1) (c)and (e) only (2) (@), (b), (c) and (d) only
(3) (b), (c), (d) and (e) only 4) (a), (b) and (d) only
frefafad § @ SF-¥ g d9HHS TR & foveromeTes 9at 1 ffehd ¥ ?

(a) o T U=t 3299 91 § Foehl R Heleht ufiersmsti o grn duifea (Iwfsta) feham s gerar
§?

(b) zfaerd =t fafeml (a) faam; (b) Fen T yeiem steemi & Wy H Y TeEe § 2

(c) ‘fafauvrd’ i 1 forat &sfta wmmet ud o aifers o gafia foan e e ?
(d) 9 gNI W T T Ui aRmEreent W geen fafaw )

) VeSS FNE? fhu &/ | a8 AU &2

et faheg &1 =99 HL |
(1) & (c) 3 (e) (2) e (a), (b), () AR (d)
(3) = (b), (o), (d) 3R (e) (4) = (a), (b) 3R (d)
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72.

73.

74.

A Social Science teacher asked students to make rules for their class. These were then written on
a chart paper. All the students gave their consent to follow these. The chart paper was pasted in
class, so that it can be referred by the students. This can be an introductory activity for which of
the following topics ?

(1) Markets (2) Diversity (3) Marginalisation (4) Democracy

TSR for w1 fRifarent sr=di ol SToHT hafl o foq from oMM 1 Fhedl 8, 3R 3 fm 0 = T/«
ford St 81 |l o= 37 Tl o urer it Wedtd d €1 e =e hen # fagent o < g, ates o 54
e & AR R yI0 H o weh | 39 Wifafafy &1 f7=1 § § fohw ducm #1 ugm ?q IRfves nfafafy & &9 §
foran S wehar €2

(1) &R (2) fafaea (3)  wIRETRTO (4) TSmEA

Which one of the following statements accurately reflects the concept of plurality in social science
curriculum ? Choose the correct option :

(1) Use of complex language in social science curricular materials
(2) Dominance of a single ideology

(3) Inclusion of multiple perspectives and diverse view points

(4) Exclusion of certain perspectives from social science

HraTTSTeh Tom o=@l § 3Tehcdl i Heheddl i fETAREd H ¥ -9l HUT Helehdl § ST ¢ ? e
foereq =1 =91 |

(1) grTSIeh foam o=t |meRft § shfad wre o1 3w

(2) Tehdd Toamem =it g
(3) 3Tk Uit iR fafay gl w1 afmfea s
(4) IS faam 9 Fo 9Ruedl 1 fHehed

Which of the following should be considered as gender neutral atmosphere in a school ?
(a) A group of girls are making Rangoli

(b) A group of boys are volunteering in annual function.

(c) A group of girls are preparing for dance competition.

(d) A group of boys are arranging refreshments for guests.

Choose the correct option :

(1) (b) and (d) (2)  (a) and (b) (3) (b) and (c) (4)  (a) and ()
frefafea 9 & se-df feufa fordt foaemes § fan’ qeee SR i1 3SR © 2

(a) <Te(RAT F Tk THE g Tiieh AT

(b) TTSHI % HHE G AMfMenlcad H HIQ Al

(c) Sl % WHE G TcA TN ot TaR LAl

(d) TISHI % THE g AU & foTw e i =eeen e

e forehed o1 =T |

(1) (b)) T (d) (2)  (a) @ (b) (3) (b)) (c) (4) ()@= ()
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75. A well-designed portfolio assessment in social sciences should be :
(a) purposeful and systematic
(b) reflect regular assignments and activities of student
(c) focus mainly on the preparation of report card
(d) accumulation of student’s work over a long period of time
Choose the correct option :
(1) (a), (b) and (d) (2)  (a), (b) and (c)
(3)  (b), (c) and (d) 4) (a), () and (d)
TS foqM H T 3T=8! W@ 9 doR foran gofl didwifad &l
(a) IeRTAYUl I Fafeerd B AMfed |
(b) foreneft % frafoa el o nfafafei o ot =ife |

() geFa: fdrk #1€ M W Hfzd e =ifeu |
(d) Toreneft % st &1 Ao IE H GUE S A |

e faehed 1 999 AL
(1) (a), (b) @ (d) (2)  (a), (b) A (c)
3)  (b), (c) T (d) 4) (a), (o) TA(d)

76. The ideas of Liberty, Equality and Fraternity of the Indian Constitution are borrowed from

(I) Magna Carta (2) American Revolution

(3) French Revolution (4) Russian Revolution

AR Sfae™ H Tedsd], FHEal a1 S o foem fog 7T 9 |
(1) e § (2) e Wit o

(3) e swifa & (4) wHHfTH

P-IT {IEART A nm 53 L



77.

78.

Which of the following may be used to denote democracy ?
(a) People are equal and free

(b) People are wealthy and prosperous

(c) People resolve conflicts in a better way than others

(d) Government is more accountable and rational

Choose the correct option :

(1) () and (d) (2) (a) and (b)
(3) (a) (b) and (©) (4) () (0 and (d)
Treha ol g9 = Fefafea § § fae v foran < g § 2
(a) T HHM SR 6T

(b) T & 3R TS B ¥ |

(c) T Hud Sl THY i qo H Fea Tk 9 YA ¢ |

(d) TER 31fYew s 3R Thdd 7 |

e faehed 1 999 HL |
(1) (b)TA(d) (2)  (a) 9 (b)
(3)  (a), (b) A (c) 4) (b), (o) TA(d)

Which of the following provide scope to develop critical thinking skills ?
(a) What role did the Yamuna play in the layout of the Mughal city at Shahjanabad ?

(b) What is the purpose of press conference ? How does the press conference help you get
information on what the government is doing ?

(c) Differentiate markets with illustrative examples.
d

) Itis necessary for the civil servants to be politically neutral. Explain.
e Availability of water is a major factor affecting the settlement pattern. Discuss.
ty ] g P
h

Choose the correct option :

(1) Only (a), (¢), (d) and (e) (2)  Only (a), (b), (c) and (d)

(3) Only (b), (0), (d) and (e) (4)  Only (a), (b), (d) and (e)

frfafed § § #1 ST a7 Hive i ok HT i ST YqH L § 2

(a) VIESTRITSTE H et Ik GaR e H Fg1 3 31 yftree fur ?

(b) UH A 1 FASE § 7 TER A W § 39 W YET I F H 59 gt vy (R TeR)

3Teh! TR LT & 2
(c) Tresit Servol o wie aTeRl § AR it |
(d) TH Arh-Has & I a7 Teavae § 5 98 Toifaes €9 9 7280 8| oA w |
(e) ST it SUCTSHAT I Yfaed ! FIford e T Teh &I HRE €| == i |

(1) & (a), (o), (d) &R (e) (2) e (a), (b), (c) 3R (d)
(3) e (b), (c), (d) ¥R (e) (4) e (a), (b), (d) 3 (e)
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79. The National Medical Commission’s Code of Medical Ethics states that every physician should, as
far as possible, prescribe drugs which are called :

(1) Ancient remedies (2) Genetic medicines

(3) Global brands (4) Generic medicines

T2 Tafeaa o1& i fafea e Hed & e T § . gk fafercde 1, SRl de 9d g, 7 ganei
1 THuifa e =nfen S e © ¢

(1) A ITER (2) ST TaEAr

(3) dftas T (4) SRR gagat

80. The purpose of diagnostic evaluation is to :
(a) obtain information about learner’s characters
(b) get to know about the knowledge students already possess
(c) classify learners into categories
(d) to assess the learners
Choose the correct option :
(1) () and (b) ) (@), (b) and (©)

() (b), (c) and (d) (4) () and ()

FTeh Hediche 1 YIS 3299 ¥

(a) Torenfefi o &Il o o H FEAT 9 KTl
(b) Teenferi o qe M % R H S

(c) Tornferi =n1 SfvRl H aficha T

(d) Toenfert = stfemn

et foshed &1 =3 R
(1) (a) 3R (b) ) (a), (b) 3R (c)
(3) (), () ¥R (d) 4) (d) ¥R (o)
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81.

82.

Consider the following statements and choose the correct option.

Statement (A) : Investment in non-farm activities in rural areas can reduce the rural urban
migration.

Statement (R) : Migration increases during particular season when there are no agricultural
activities in rural areas.

(1) Both (A) and (R) are false

(2) Both (A) and (R) are true and (R) is the correct explanation of (A)
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(4) (A) is true but (R) is false

freafafaa weml W foar Fifse o 9@ fawen g
HYT (A) : T & H R-wfy wfafafeen § e, wrdon vl gerem w w1 R g R

A (R) : T fafere diew 3 SRm varem § gfg St & e wrior a6 8§ o i wfafafet w8 & @
LI

(1) (A) 3R (R) S Terd |

2) (A) 3R (R) I T&I € 3R (A) T (R) HeEl HARAT T ¢ |

(3)  (A) 3R (R) S Tl € AR (A) T (R) Tl ==& =& et
(4) (A) 5 T Afehd (R) TTerd T

Which of the following resources are relevant to discuss the theme “discrimination” ?

1) Advertisement of a woman washing clothes in a commercial.

3

(1)

(2) Text of Ashokan inscriptions.

(3)  Universal Declaration of Human Rights.
(4)

4) Narrative of B.R. Ambedkar’s experiences of looking for a place to stay after returning to

India.
‘Yeure’ fawa W ==t w & fau, frafatea § @ =6 @ geee g 82
(1) T foqma & g o g Afect 1 <9
(2) 3T & Siferd@l @i fafy
(3) HAMEYERR s df¥ere =
(4) IR, IR F IRA e % ILEM @A o T G o STal T gaid
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83. Match the following and choose the appropriate option :

Indicators of assessment Skills/Abilities
(a) Discussion (i)  Sensitivity towards differently abled, showing concern for
environment
(b) Observation (i) Making logical connections
() Normative concerns (i) Reporting, narrating, picture-reading and drawing
(d) Explanation (iv) Listening, expressing opinions and finding out from others

(1) (@)-(), (b)-(iii), (c)-(iv), (d)-()
(2)  (@)-(v), (b)-(iii), (c)-(1), (d)-(i1)
() @-v), (b)-(i), (c)-(), (d)-(iii)
@) (@-(iv), (b)-(iii), (¢)-(i), (d)-()

i feu il w1 faer Y qen 3uge fashed 9 -

JMEHT o Hohdeh AT/ AT
(a) == () T e o gfd dageiierd, waferor o gfd feiar gefiia s
(b)  STFATRA (i) dfher HeY M
(c) Tram® TR (iii) TaIfe, auiE, fea-ve iR e
(d) TIEH (iv) G, TF e A IR O & Al I

(1) (@)-(), (b)-(iii), (c)-(iv), (d)-()
(2)  (@-(iv), (b)-(iii), (c)-(), (d)-(ii)
() @-(v), (b)-(i), (c)-(i), (d)-(iii)
) (@-(iv), (b)-(iii), (c)-(i), (d)-()
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84. The Constitution determines the relationship among people living in a territory called citizen and
also

(1) relationship among neighbouring countries and government
(2) relationship among people and corporates

(3) relationship among neighbouring countries

(4) relationship among people and government

gy Tw &9 § w9l drl o S A0ReR e Geiy i s € ik aw H ot
fruifa sear ©)

(1) TS <E SR WHR & A= day
(2) @ AR HufE & ote oy

(3) TSI QW % SH Hey

(4) @ 3R WHR & o= oy

85. A teacher wants to divide 30 students of her class in small groups for a task on diversity. Which
will be the most relevant way to make small groups of students ?

(1) Heterogenous random groups based on a game
(2) As per students comfort
(3) Benchwise from front to back

(4)  According to students marks in last exam from high to low

fafauar fowa W %/ <3 ¥ T TeAiishT S99 Fel % 30 faanfef & Bre-oie wEl # die 9% W |
frefafea # g fmior &1 sF-a1 T gad 3fad g ?

1) fowm wgfes v s frdt ga W snanfa 2
(2) forenfeiat =t glaergar

(3) ST | WD & %A T ded & %A & FIEAR

(4) foenfer o fosel aiian | o11Q ofeni o =ed A |
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86.

87.

According to Indian Constitution this kind of reservation is not a violation of the right to equality.
(1) To give jobs to close kith and kin of political leaders.

(2) To give special treatment to someone in order to ensure equal opportunity.

(3) To ensure jobs to people from States where an elected representive or Minister comes from.

(4)  To ensure jobs based on nepotism.

TRA G & STTIR TH FHR hl STREI0 GHFT o SAIHR HT Seeisr e ¢
(1) TSHast & &9 Haferd ol Henfar 3|

(2) THM TER MR A & fag frdt & e fo¥in Sraer 1= |

(3) o Tl & wafafy an @5 g7t o1 € 3 TSwi o An Bt ARl < |

(4) HTE-TASTETE o STHR R ISER A= we|

Which of the following may be acquired by learners in a project work that involves engaging
students in authentic, real-world problem-solving tasks ?

(1) Promotion of collaboration and team work
(2) Development of critical thinking skills
(38) Improvement of content knowledge and skills

(4) Enhancement of creativity and innovation

=1 # 9 == e IR Sl S99 BT sl YT, Srdfos ST Tt TR FHISH o gRT STfsid foha
T T € ?

(1) T&Ir IR I 3 Sl ag@ |

(2) HHEAHS = hIeTe o1 forehrd |

(3) ot 9 SR hrea H gUr |

(4) TR SR T | Ffs |
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88.

89.

90.

Read the Assertion (A) and Reason (R) statements carefully and choose the correct option of the
following :

Assertion (A) : Values can be taught, too.

Reason (R) :  Social studies is a subject through which all basic values can be taught.
(1) Both (A) and (R) are false.

(2) Both (A) and (R) are correct and (R) explains (A).

(3) Both (A) and (R) are correct but (R) does not explain (A).

(

4) (A)is true but (R) is false.

JMURT (A) 3R HIT (R) Tl FaLHYES died IR FHmfafad § 9 @@ foawmes g
afieRem (A) . fae gog T ot S ehd ¥ |

T (R) : e faam o fowa ® 998 asft semed qo 1o <1 9k ¢
(1) (A) @1 (R) SHT 279

) (A) 3R (R) I T T R (A) HT (R) SRS HIA

(B) (A) 3R (R) I Wl & ©ifehd (A) T (R) AT el HLal |

4) (A) ¥ T fog (R) 3793 T |

Fundamental Rights and Duties of Indian Constitution are written on the walls of social science
classroom. This will make children learn primarily through

(I) Reasoning (2) Observation (3) Imagination (4) Memorisation

e Fe H IR R ARAT Gfaem § 3 Hifersd SRl iR wde &t famn T #1 a% s=d &
T&ra: F g @ g1

(1) Tk AREENIER (3) e (4) A HEA

Which region in India has the highest concentration of Adivasi communities ?

(1) West India (2) North India (3) South India (4) East India
IRA % g & | srfeardt Tqeri i Ferar qad 1fe § 2
(1) IR=9 YRd ¥ (2) IWURAH () cUYrad  (4) YO 9RaH
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PART - IV
LANGUAGE -1 : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-IV (Q. No. 91-120), if they have opted

for ENGLISH as LANGUAGE-I only.

Read the passage given below and answer the questions (91-99) that follow :

1.

91.

92.

On 15 January 2009, several interesting things happened. A plane crash landed into the Hudson
River, right in the middle of New York City. The pilot, crew and 155 passengers escaped safely.
But then, something else happened... Jim was nearby and watched the event happen. He
immediately tweeted that he had just seen a plane crash in the Hudson. From there the news
spread quickly. People contacted him immediately and asked him what was happening, and
other people on the street took photos and videos with their phones and posted them online.
Ordinary people suddenly became journalists. It was 15 minutes before the news broke on official
news channels.

Photos, videos and tweets from ordinary people at the scene of dramatic events now provide the
words and images that describe events in the news. When a meteor exploded over a Russian city
in 2013, millions of people around the world watched videos and photos of the event on Facebook
and YouTube. Social media can also save lives. In January 2010, an earthquake hit the Caribbean
island of Haiti. The government said that there had been an earthquake, but they didn’t give
many details at first. Meanwhile, people living in the disaster area were posting photos and eye
witness accounts on Twitter and Facebook and telling the world that it was an emergency and
houses were collapsing. A local radio presenter used this information to help people find family
members, and people even phoned his program to ask if their relatives were safe.

News travels fast on social media, but false stories spread just as quickly as the truth. Some of
these “facts” are erroneous, others are deliberate hoaxes. Hoaxes remind us that not everything
people post and publish is reliable. But social media can change our lives for the better.

Read the following statements :

a) A plane crashed on 15 January, 2009

(

(b) 155 passengers escaped, but the pilot lost his life.
(c) Jim, an onlooker, posted pictures on Facebook
(1) (a), (b) and (c) are all incorrect

(2) (a) and (b) are correct, but (c) is incorrect

(3)  (c) is correct, but (a) and (b) are incorrect

(4) (a) is correct, but (b) and (c) are incorrect

Why should we not take news on social media lightly ?

(1) News posted are hoax and confusing.

(2) The facts are erroneous.
(8) Strangers can call you to seek information.
(4) They can change our lives for the better.
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93.

94.

95.

96.

97.

98.

99.

Complete the given word analogy :
dramatic : exciting : : hoax:  ?

(1) excuse (2) media posts (3) deception (4) example

News on social media :
(1) are insignificant (2) are reliable

(3) travel fast (4) are deliberate hoaxes

‘Some of these facts are erroneous’. The antonym for the underlined word in the given sentence
is :

(1) surprising (2) faultless (3) inaccurate (4) invalid

Identify Parts of Speech of the underlined words in the sentence given below :
‘But social media can change our lives for the better.

(I) noun, adjective (2) noun, adverb
(38) verb, adjective (4) verb, adverb

Arrange the following events as mentioned in para 1 in the correct sequential order.

(a) Jim watched the crash and tweeted.

(b) People started contacting Jim for updated news.

() A plane crashed into the Hudson River.

(d) The news of the crash was broadcast 15 minutes later.

1) ©— (@) - b) =@

2 ©- b - @

B) ©)-©-@ -

4) @ - (© - (@ - (b)

The meteor explosion in 2013 in Russia was watched by people on :
(1) Facebook and YouTube (2) Twitter

(3)  YouTube (4) All social media handles

Ordinary people suddenly became journalists means :

(1) they left the jobs where they were employed

(2) they started posting news-bits pictures and videos on social media
(38) they headed towards media houses to seek employment
(4) they started contacting Jim to know the details
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Read the poem given below and answer the questions (100-105) that follow :
Great, wide, beautiful, wonderful world,
With the wonderful water round you curled.
And the wonderful grass upon your breast
World, you are beautifully drest.
The wonderful air is over me,
And the wonderful wind is shaking the tree,
It walks on the water, and whirls the mills,
And talks to itself on the tops of the hills.
You friendly Earth! How far do you go,
With the wheat-fields that nod and the rivers that flow.
With cities and gardens, and cliffs, and isles,
And people upon you for thousands of miles ?
Ah, you are so great, and I am so small,
I tremble to think of you, World, at all;
And yet, when I said my prayers today,
A whisper inside me seemed to say,
“You are more than the Earth, though you are such a dot,
You can love and think, and the Earth cannot!

100. List the 3 different things (in stanza 3) found on Earth that make it great.
(1) cities, grass, mills (2) rivers, gardens, cliffs
(3) isles, oceans, people (4) wheatfields, trees, whisper

101. Identify the figures of speech in line 1 and line 4.
(1) simile, alliteration (2) anaphora, personification

(3) alliteration, metaphor (4) alliteration, personification

102. In the line, ‘with the wonderful water round you curled’, the word ‘curled” means :
(1) turbulent (2) arched (3) surrounded (4) mounted

103. The wind in the poem talks to :
(1) hills (2) itself (3) trees (4) clouds

104. In this poem, the poet describes the :

(1) life in the cities

(2) the Earth, its present and past

(3) the plants that grow on the Earth
(4) Dbeauty and vastness of Earth

105. What does the underlined word refer to ?
‘It walks on the water, ...
(1) Earth (2) river (3) grass (4) wind
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106.

107.

108.

109.

110.

111.

Schools should follow additive bilingualism because it :
(1) hinders the development of the first language

(2) values the culture and language of the child
(3) gives importance to teaching English as a second language
(4) promotes the child’s language but not the culture

Match the language teaching methods in Column - A with their understanding or related activities
in Column - B :

Column - A Column - B

(a) Communicative Language Teaching (i) Socially acceptable and contextually
appropriate language

(b) Direct method (i) Silent reading

(c) Grammar Translation (iii) Written literary texts

(d) West's New Method (iv) Grammar is taught inductively
1) (@)-@), (b)-(), (c)-(iv), (d)-(iii)

) @), (b)-iv), (c)-(iid), (d)-(i)

) @-(iv), (b)-(i), (c)-(iii), (d)-()

4 (@)-(id), (b)), ()-(i), (d)-(iv)

Listening involves :

(1) recognising sounds and deducing the meaning from it

(2) hearing the sound, decoding the sounds as they are
(8) guessing the content
(4) using prior knowledge of the subject

Which of the following statements is NOT true about languages in India ?

(1) Hindi is the lingua franca of the Indian sub-continent.

(2) According to the Indian Constitution, English is an Associate Official Language.
(3)  According to the list of Eighth schedule of the Constitution of India, there are 22 languages.
(4) Sanskrit is a Modern Indian Language.

Which skill of language is known as receptive skills ?

(1) Listening and Reading (2) Listening and Speaking

(8) Speaking and Writing (4) Reading and Writing

A language teacher brings everyday objects such as newspapers, menu cards and train tickets to
teach the students of class V. What is she doing to make learning happen ?

(1) She is creating awareness in the students.

(2) She is using authentic materials to make her teaching more realistic and useful.
(3) She is trying to help her students to learn multiple languages.
(4) She wants her students to learn English through real life like situations.
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112.

113.

114.

115.

116.

117.

118.

119.

120.

In a language class, students form groups under the guidance of a teacher and present an
advertisement on a given topic. Learning a language in this way is called

(1) Guidance and counseling (2) Collaborative learning
(3) Competition and rivalry (4) Language games

Which school of learning believed that language, whether verbal or non-verbal, takes place through
the process of habit formation ?

(1) Interactionalist (2) Functionalist
(3) Behaviourist (4) Cognitivist

A teacher gives a task to familiarise the learners with the vocabulary used in restaurants. What
among the following should be objective of the lesson ?

(1) To develop critical thinking

(2) To acquaint the learner with the lexical items
(3) To familiarise with the grammatical items
(4) To introduce the text about a holiday destination

Multilingualism in India intends teachers to understand :
(1) language, identity and culture are separate entities

(2) communication happens, and social cohesion is maintained
(3) minority languages should be clubbed with dominant languages
(4) ‘alanguage’ policy should be framed in a diverse society

The time and place of the story are called the .
(1) Climax (2) Theme (3)  Setting (4) Plot

The impact of tests and assessments on teachers, learners, and materials is called
(1) Reinforcement (2) Corpus effect
(3) Washback effect (4) Classroom effect

In alanguage class, a teacher asks a group of students to act as purchasers, property sellers, landlords
and tenants while other students are asked to watch them and enjoy their conversation. This
activity is called

(1) Guidance (2) Roleplay (3) Drama (4) Acting class

Linguistic function such as intonation, tone, stress, and rhythm are known as :
(1) Pragmatics (2) Poetry (3) Prosody (4) Phonetics

Which of the following is NOT an important factor in planning a listening lesson ?
(1) Number of speakers. (2) Pausing the recording.
(3)  Speed of delivery. (4) Gender of speakers.
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R - IV
YT - 1 : f&=<
WEqul : THanedl WIT-TV (WH. 91 9/ 120 ) & TA1 6 IR kol a+ft § I 38 Wrer-1 1 foered
e g e

fadyr : <= feu T TrEYT Y Ut OB T weAl (WH. 91-99) % WaW SuIe ST ATl fashed Y ST

e Tea TS o1 FARA YoM a1 81 9% Wifecd 3iR T8I 6l T84 Hoy & ¢ o wifec § 9o &
fasjafera 2 fagidl ok ged-foea et st foar aer ot @l €1 a8t Wifec H1ell o SEA ol e, ST
Hrred | W SR Hrerstd 9 T §, T A Ted i AT 8 R GogAietl o e ST S hl T
A THI-G9F R GifecThRi § TS % FSaR B i feafd 61 g9 €1 $9 TR SAR Hifee vedt W Ut
Tl BT BT 9 &, TShT STaaehal & 1 § o1 Tt €, Feh foar gea TRiasn & wd € o) St =
AN &1 S A HT e et gerdt €1 37 AifecsR SAfaad saa gaeeti i & T8 wad dfewh
T § favams w1 S=Ty W@ i RIS i ¥ |

91. TR % STIER Wife B fha @e w1 foar worehdt €2

(1) -GS foee =t (2) TES % YR T A

(3) T % faw #f (4) ¢ fagri & o A
92, o Te & Aifecawil ot MERIHdl & T H o1 &l & 2

(1) < ToT 1 fae i ¥ | (2) S TEN S TES B T |

(3) ST THTS I HARSH HYd ¥ | (4) S FE I Afqew ah 0 ¥
93, ‘fasafed’ & g © -

(1) w@fed (2) foa G) d@ (4) =d
94, ‘TS % I&HR BH i feufa’ amer H Ywiferd vreg 1 19 ¥

1) TER (2) Aty (3) wEHM! (4) oTafyEw U
95. ‘e’ § aead §

(1) 3759 HIdA qoh @ el | (2) ST foem & S gem A

() WH H Ui B | (4) ohre foRIY = TR ATEA HIa |
96. ‘fovard’ wes o1 A T

(1) Tf=a aron (2) fogama

() fowa @ gefua fam (4) o Heef
97. wfecrsil ¥ THS &t foRg fearfad it qe=™ w1 w1 o foea €2

(1) foea gan a9 2) fawE =t AR SR TS

(3) Had i IR ST gl HAN (4) RN FES
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98.

99.

- e hrersrlt i o= T 8 ?
(1) s forerd fagrt =t fedr = (2) Sl TSI T FARSH |
(3) S HHTST T YU F | (4) S HHEE T i AT B |

THTST T T I TG HIT ¢ ?
(1) wifed 2) fomm (3) dtent foer (4) foenm

FrAfefaa eyt &t Ugdht U9 T 991 (T.H. 100-105) o Ted ST 3K Tt fashed ohl T :

100.

101.

102.

103.

104.

105.

feaged™ &1 999,

Ao T ¥ SR W 7

7% T Geh T

- ei-¢iX |

fafii=et § ==reran o1 T el ST,
HYL HYL & S ST TE-

fobg St 7R & @ 37 Bre-foreme
T € A FAA I T

el T I ORI FHA-hTeA el |
TS ! T 1 I8 hal & A |

TS § o SRR o1 FANT ek g@Eia § 2
(1) HHeTeRTo (2) srfaeEfe (3) I (4) Tk

frar g w I I TE R ?
(1) AT (2) =™ (3) dm™ (4) gen

Tarier § fohe o1 feeor gam €2
(1) I99E & (2) UHfd H (3) E=aAT @ (4) O H

e Hedt fond TRe & SThTel 9 SR W 7 ?
(1) 3 s 9 W e 9 (2) AR WX TR 9
(3) dcEl ¥ W THE (4) SHT DI A H R TR

‘gAY fenden forT wgea gem 2
(1) faf (2) = (3) TR (4) Hemm

 fearamaaT ' = G@fy fa=se €
(1) feog+smemE  (2) foem+stgum (3)  foan+sraEm 4) feemraEE
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106.

107.

108.

109.

110.

111.

~

forammerdl ohl ARTICHeR TgHTOTETG ST STTERUT AT dMeU Fiifch I8 |
(1) 9| 9o % foehrE # ey Yer s §

(2) =3 I LR AR AT B e @l ®

(3) Hsh foregor 1 fgedtar oo % €9 He@ <1 ®

(4) S=d HI W hT T T HIAT § U] SThT LRI Dl &

FHITH A H A ey faferai € oK et B § Seh! 9Hg a1 Gatud iafai@ 8, faam e |

HicTH A HicH B
(a) T e fRrerr () GRS €9 § Wied IR G & A& AT
(b) v fafy (i) HF T
(c) AU 3IA] (iti) ferfe wfefcaes @l
(d) TR (West's) &l aiia fafy (iv) AR ohl STRTHATH ik § TGHI
(1) (@)-(i), (b)-(i), (c)-(iv), (d)-(iii)
2)  @-(), (b)-@v), (c)-(iii), (d)-(ii)
©B)  (a)-(iv), (b)-(ii), (c)-(iid), (d)-(0)
(4)  (a)-(ii), (b)-(1), (0)-(ii), (d)-(iv)
o B R WA 7 2

(1) =af= ot 9gaH & 3R 39 e ke

(2) & g, et S €, qegEn fesie

() foreRg & s H SFTAM I

(4) fawa & gd I A1 T BT

IRA H 9To1sti & 9N § HE-91 HF HE TE © 2

(1) TS IR 3 H7eg9 Fi @k e (fevan wien) §
(2) HRA % WfGUH % TR FUSH T8 TSTehid T §
®)
(4)

3) IRd % A &I S g % SFTER-22 A ¥
4)  HERd MYfeh R 9T §

TS o A § hIvTe UTel v § 2

(1)  Fe0 AR g (2) ger 3iR der
(3) dre SR wE (4) Y3 3R aEA

eIl Ui i W1 S7ATTeh 791 shen § wron freror & forw gfafeq e gonr sl aml S fo gammTs,
e difetert 37X Y& I & fesme anfe @t §1 o sifenmm & forw oon e @ 22

(1) o foaenfei & STEsha @ =ed 7 |

(2) % AT w1 IR SAferk aTdtae qe AT I % feT yrefores W T W R W

(3) e v faenfefa it sgfae womd ee & Heg 9 W T

(4) o = © fop 3ueh faeneff e =it arafaes feafaai 9 ot ¥
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112.

113.

114.

115.

116.

117.

118.

119.

120.

T ST hel § faeneft s7eamae o fHevH H 9g IRt fou T 2iftes T Teh fome wega ohdd © | 39 @ik
T T HRGAT 1 HEeAd § 2

(1) TIoem SR T (2) TEIRTTE ATy

(3) wfaanfar sik wfagfean (4) TR B

STRATY T 91 A 39 o1d | fovarg @ € o Hifas a1 smifas o sted fafor i wfewan & arem
Y 3t ® 2

(1) o1 fFrarcrsardd (2) STAREER (heRHfaw)

(3) =HeErErE! (farfoiee) (4) HACTRATE!

Teh TATIE 3 Tdl ol TR U S[E VeeHyel ¥ uRkfad T aren &M e 39 a8 &1 31 3299
feu ?

(1) g feiaq foasfad e

(2) Toranfefari ont srer fororer Tt 9 9Rfed e

(3) AR TRl ¥ 9Rfd e

(4)  STRTSN % SRH HE T Helfed g Rt § afifed sweam

Rd H IgHIIIETE o HaH H 3719 & foe 91 FHeMl e © 2
(1) v, Afe iR Hepta ¥ - sifdaa wadt €

(2) TV WSS Sregar wenfud g §

(3) TCUTEH TN ! Y[erenedt wrnsti # faen < =nfew
(4) fafaua WX o 1 T v’ = fifq s =

et off Frart o1 T STR T I e § ?

(1) =EHH (3fd) (2) oF (3) dfén (4) HIAAF (Tie)
TR, Toranfefa ofR Wit W 3 Ud 3Tehets 1 YIS o Healwdl § 2
(1) qAser (2) fafy gure (Hd shaR)

(3)  ITHT UIETOT ST YT (ST F T ) (4) Harl g

ST Y el | Ueh 31eATe A foenfoll % U WHg wl UEwh, WSl SieR, HehHIeish R fHRUIER
AT T % AT har I 9 foanff=i 9§ et o 50 31fy= il <@ IR odfay &1 o< of | 3§
Tifafafy s = et s ?

1) e 2) o=

(3) gmM (4) SAMTTA T R
TN h1d S T3, dH, STerend 3TR o bl 41 hel ST ?

(1) REE TR (THieh) Q) wHeA

(3) Ve (4)  EFAATHRAT

et gao @ St wfafafy s dsHT SF T9F HIF-91 HRE Heoqul & ¢ ?
(1) =SS st e

2) Temfén = orer a1 e (WS <)

(3) e i Tfd

(4) SIS I SR (S ATl Aigel § A1 EY)
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PART -V
LANGUAGE - 1l : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they
have opted for ENGLISH as LANGUAGE-II only.

Read the passage given below and answer the questions (121-128) that follow :

1.

121.

122.

123.

124.

Chocoholics no longer need to feel guilty about their desire for chocolate. They are simply the
victim of the genes, scientists have found. The so called “sweet-tooth gene” has been identified by
separate teams of researchers and helps explain why some find it harder to resist chocolate bars
and cream cakes. It also raises the possibility of designing a drug which could “switch off” the
gene and help people resist sugary foods. Children, in particular, risk their health by eating too
many sweets and chocolates.

To identify the gene, research teams conducted almost identical experiments using mice which
have differences in their ability to taste sweet foods. One of the team members said “A sweet taste
receptor recognises the sweet content of food and initiates a cascade of events which signals to the
brain that a sweet food has been eaten.” He further added, “The same gene exists in humans, so it
means that if your parents have a sweet tooth then you probably will as well”.

He said, “We have always known that some people have a sweeter tooth than others. But it has
also been proved that if you are gradually exposed to less sugar, then the body becomes accustomed
to less. They will be satisfied with a lower level of sweetness. Doctors warn against any form of
gene therapy which seeks to deactivate the sweet gene. “We have produced this gene through
evolution because sweet foods in nature are not poisonous, they give us energy. We all need to
have some sugar in our diet,” claim scientists. US researchers are using this discovery to develop
artificial sweeteners without any after-taste.

Complete the given word analogy :
accustomed : habitual : : initiate :  ?
(1) hinder (2) halt (3) complicate (4) start off

‘Chocoholics’ are people :

(1) who are makers of chocolates

(2) who hate chocolates

(3)  who enjoy both chocolates and alcohol
(4) who are fond of chocolates

Having a sweet tooth means :
(1) teeth becoming decayed due to sugary food items
(2) buying sweet food items from shops

(3) being fond of sweets and chocolates
(4) teeth being sweet to taste
The phrase ’. . . . initiates a cascade of events’, means :

(1) to start a series of occurrences

(2) to put a stop to orderly events

(3) to halt and hinder sequential events
(4) signals given to the brain

P-XT {IIEART TR nm 70 L



125.

126.

127.

128.

Identify parts of speech of the underlined words in the given sentence :

‘Doctors warn against any form of gene therapy which seeks to deactivate the sweet gene’.

(1) conjunction, noun (2) preposition, adjective
(38) adverb, adjective (4) preposition, noun

According to doctors, sweet foods are :
(1) deactivated genes (2) dangerous
(3) energy boosters (4) poisonous

Doctors are not in favour of gene therapy because :
(1) It will enhance sugar levels in the body.

(2) Sweet foods give energy to the body.

(3) Itis poisonous.

(4) People will feel guilty after going through it.

Read the statements given below :

(@) Doctors have favoured gene therapy to control sweet gene.

(b) A sweet taste receptor recognizes the amount of sweetness in food.

(c) Heredity factors have absolutely no role to play in inheriting the sweet gene.
(1) (a), (b) and (c) are all incorrect

(2) (a) and (c) are incorrect, (b) is correct

(3) (a) and (b) are incorrect, (c) is correct

(4) (b) and (c) are incorrect, (a) is correct

Read the passage given below and answer the questions (129-135) that follow :

1.

129.

Every now and then we would speed through a village lined with waving Tibetan children. Their
villages looked wonderful and so inviting that Dorje was not showing any signs of slowing down.
Small clusters of single and double storey buildings with walk-in courtyards jostled together in the
foothills to gain maximum exposure to the sun. The houses looked solid, built for the harsh
environment. Walls are made up of stone to waist height and finished off with mud bricks to the
roof. Tin cans lined the window ledges, with the bright orange of marigolds in full bloom livening
up the black-and-white of the houses.

Branches of trees adorned with colourful prayer flags stood high into the wind from the top of the
flat roofs. The auspicious blue, white, red, green and yellow colours of the fabrics stood out against
the rich blue of the Tibetan sky. Each prayer flag carries a picture of Lungta, the jewelled dragon
horse, who carries the ownet’s prayers up to the divine every time the flag flaps in the wind.
The larger villages have healthy trees, usually willows or poplars which look quite out of place in
the generally treeless landscape. Wood is a precious commodity in the highland areas of Tibet and
isnever wasted. The few shrubs which grow wild on the hillsides are harvested for use as brushwood
and each courtyard wall is piled high with sticks gathered from the mountains to get a fire started.
The lack of solid fuel in the shape of wood is not a problem for the Tibetans, who have an ingenious
wood substitute : yak dung.

Yak dung is used by the Tibetans as a substitute for :
(1) wood (2)  buildings (3) marigolds (4) fire
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130.

131.

132.

133.

134.

135.

136.

Complete the given word analogy :
precious : valuable : : ingenious :  ?
(1) practical (2) theoretical (3) inventive (4) genuine

Read the following two statements :

Assertion (A) : Wood and sticks are piled high against the courtyard walls in the houses
Reasoning (R) : Wood is found in abundance across Tibet

(1) (A) is correct and (R) is the reason for it.

(2) (A) is incorrect, but (R) is correct
(3)  (A) is correct and (R) is not the reason for it
(4) (A) and (R) are both incorrect

Identify the underlined words in the given sentence :

The lack of solid fuel in the shape of wood is not a problem for the Tibetans.

(1) verb, noun (2) noun, adjective
(3) adjective, noun (4) noun, noun

What aspect of Tibetan houses as described in the passage is incorrect ?
(1) They are solidly built.

(2) Walls are made of mortar and cement.
(3) Tin cans line the window ledges.
(4) Roofs are made of mud bricks.

The phrase ‘courtyards jostling together’ implies :
(1) being in close proximity

(2) Dbeing very far apart
(3) being in different sizes and dimensions
(4) Dbeing one on top of the other

Why do the willows and poplars look absurd in the landscape ?
(1) The other trees camouflage them.

(2) They are stunted shrubs.

(3) They have minimum branches and leaves.

(4) Because the landscape is generally treeless.

Creativity in language education is :

(1) classroom material using communicative language teaching.
)

(3) merging elements from different subjects to understand something.
(4)

open-ended classroom tasks which allow for different interpretations and answers.

classroom activity using new methods of teaching.
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137.

138.

139.

140.

141.

142.

143.

Identify the type of email you would write if you were writing to a colleague who is your friend.

(1) Correspondence (2) Informal (3) Formal (4) Business

India’s language in education policy (Three Language Formula) attempts to promote :
(1) Mother-tongue based multilingualism

(2) Multi language education
(3) Monolingual education
(4) Bilingual education with the focus on Hindi

Assessment done throughout the teaching-learning process to clarify student learning and
understanding is called

(I) Assessment as learning (2) Assessment for learning

(38) Assessment of learning (4) Assessment in learning

In a second language class, a teacher played audio on ‘Health is wealth’. He then distributed
handouts and asked the students to tick the correct answer from the given option. The objective of
the lesson was to enable the learner :

(1) to memorise the lesson on health and wealth

(2)  to hear the lesson on health
(3) to engage the learners with a task
(4) to listen, to analyse the ideas

What is NOT true about errors in language learning ?

(1)  Errors help to understand the process of second language acquisition.
(2)

(3)  Errors are not always bad and help in learning.
(4)

Errors hinder the language learning process.
Errors are crucial aspects of the language learning process.

Rita, a government school teacher, uses visual devices and language games to teach English to
class VII students. Which principle of teaching is Rita applying ?

(1) Principle of correlating with life

(2) Principle of natural process
(3)  Principle of practice and habit formation
(4) Principle of motivation and interest

What is NOT true about top-down processing ?

(1) Listeners need to understand every word

(2) Listeners rely on their background knowledge
(3) Listeners make guesses about the intended meaning
(4) Listeners make use of the knowledge of the world
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144.

145.

146.

147.

148.

149.

150.

Using everyday objects to teach language is called
(1) Text (2) Realia

(3) Language games (4) Teaching aid

Which of the following statements are correct ?
Dyslexia is a reading disorder.

a)
b) Dysgraphia is a writing disorder.
d) Dyslexia is a writing disorder.

(

(

(c) Dysgraphia is a reading disorder.
(

(

(3

1) Both (c) and (d) are correct (2) Only (a) is correct
) Only (b) and (d) are correct (4) Both (a) and (b) are correct

Which tool is not ideal for formative assessment ?
(1) Class presentation (2) Assignment

(3) Paper pencil test (4) Project

Learners should be exposed to language, and errors are evidence that learning is taking place is
advocated by :

(1) Psychoanalyst (2) Behaviourists (3) Cognitivist (4) Humanist

Which is a tool that allows for a number of synchronous and asynchronous online teaching
opportunities ?

(1) Padlet (2) Textbook (3) Railway ticket (4) Television

When is International Mother Language Day celebrated ?
(1) 13t April (2) 1% January (3) 14th February  (4) 215t February

What is a short story which has animals as the main characters and teaches an explicit moral
called ?

(1) Travelogue (2) Fantasy (3) Fable (4) Science Fiction
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Y-V
yIer - 11 R
WUl : ThEmel WET-V (WE. 121 | 150 ) & Tl & ISW haa 9+t § Al I HTer-11 1 forred
fest g 7l |

fdor : e fau o TEnYT WY Ut U M weHl (W, 121-128) % HEH U AT faeheq st ST

et ot Tod o<t fawha femmd €1 =afad & oIk aR o 38 ferrdt 89 9 € S e § | 5 o O myfa
H oEd € el 7 a1 Sid e ¥ 3 7 et R U i A G Ul § | WEH i Tt ol st ffert gt
B 1 Ut TSt o6t ve=e 98 ® T o foorga fey, fooiegea 9@ie Bl ® | S 9 =it ugell ve=H 98 § f ag
3G O1q i Toar & Har for THEn SEH a1l AN SE IR H I GE W R | STSE-US T @R 9T, I8
IR S T 19 ¥ | TSt % ST T 1 SeeRt el aifey s Tt o1 Bl 9 T, F R | ot fow
TR |

121. ‘Thyfa’ & aed €
(1) g oen (2) TfFEen (3) UG o (4) w= A

122. Tyfa § o9 a1e @t 9 A ©
(1) S o aftem & ot | (2) faaem oIk stv@E ® St @ |
(3) SE-UUSE % AT 9 W AN | (4) THE T HEAT 7 H AT AT

123. ‘fawa’ w1 emed g :
1) v (2) = (3) EiRfa (4) T

124. TSt & forg T % I I UG ! =1d el TE © 2
(1) e ol o g Ay ) foed gHfaar e
@) Faigadgad (4) foed srawerand &

125. ‘e’ ® ygea sue fa ot st fodivar € -
(1) dfed (2) AfyeRar (3) &AvE (4) fed

126. % 701 % 9 | AfF & R 1eht 07 Tq: 71 2 & 2
(1) fIe=nue (2) Aga (3) =™ (4) wHdW

127. ‘3TSG-TSIY 1 TEHR T’ T 1 AR § 2
(1) Teeht fed S| (2) 3T TL-AMT I@H T |
(3)  oTu USIfE 1 TAH T | (4) 3HU % ATER TS S
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128. IEH AT 1 Tod Ugel Igd I T 2
(1) <R & 99 6 AR T8l il &1 (2) o8 U<T 3T 9@l Sl ¢ |
(3) ogd e da R (4) sl ¥ G SR ¥ |

fdr : < fau 7T TTeneT R ugeRt U T UeAl (W.H. 129-135) o W SUE ST aTet faehed sl ST

A & 3G ohi Tes ifieAfad § Wiiid | Hifid Siiad shi 3THIe s’ € | Wiid Uehfd Ued el & 1 dferd
hetail | Hifiqehetl sl Taied TIH YT § 1 W 98 aferd sholl © FSre g1 3799 T ot Jaiet sl W 3R ™
& HIETH 9§ Yohe hd & | T hell W11 ohl SHekd hid o1 HILAH § | G Ueh T YifHer el & 1 9T &1
T TS 9 BT § IR TAR T o1g &1 gor ot Tiid oiar &1 & & oTg Sl UM & fTw g &t el
forerfad s Uedt 1 Wid hael SART RS 2 e HYar 31fyg g6 Sehia oft SRt ©1 G AR offeR i

3TSITE ! Igfeld hidl gl

129. G g foFE TR § HERING hidl © 2
(1) BHR A9 S 3TSTE hl A AR % |

(2) BHRI HARSH Tk |
() sifwaafa 1 Hiead sk |
(4) T oTHfed wTH |
130. ‘T’ & o1ef T
(1) HYoi S | = | (2) 9t gHl H =
(3) TEM WG ¥ = | (4) T H A |

131. §d % TS &t Wi & fog o eTmeeas © 2
(1) Hiad ¥ ugar wEl =few | (2) Ylien a3 BT =feu |
(3) G Wi el fowfad et =wifew)  (4)  Gd o1 FH B e

132. ‘Garea' w1 €Yy foee ®

(1) ¥FE+Tea (2) wE+3I== (3) G+drd (4) HA+I=
133. T&d TS | foRy her it W bt TS ¥ 2

(1) e (2) THA (3) TTA (4) Hia
134. TG 1 Sta ot STTHIA SR el 741 §, FHifeh

(1) 9% 99gaY gl (2) T A< I G HLAT B |

(3) I UHfd ST R (4) I Bl UM A 7

135. Tid §RI AIEAIST bl Yehe A 1 TIE HIEAT 91 € 2
(1) I, = (2) T, Hfd (3) T (4) BT, IFCRR
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136.

137.

138.

139.

140.

141.

142.

oo freT H TR 9 § ?

(1) FEYUTCHe 1o fIeT07 SRl TART Shid U hall |t

2) G T A HEE g4 wE fent fum-fam et & wedt € o) frm-fu s frea Tk §
(3) e sTauRon & 9fd 99e1 s o fau fafy= fawi | e 9@ =60 faam

(4) Torgror =6t 7elia fafe=il o1 YA d gC wEET fdfary

% U % SH TR i Tg9H T S A9 3794 39 TN ! fora=n =R i amgen fiys oft 22
(1) fo@Er-ud (@) T FEeR (2)  SHTE®
(3)  Sfo=ieh (4) SR Heth

R i e Aifq & s’ (v 93) 78 T9-1a 3 & faw Fedt © 2

(1)  HIGHTST ST SIgHTOTeS

(2) =g e

(3) T wiftres e

(4) &< | g=7 9a <d gu gt e

formnferi o sifenm R Twer & wowedr @ o fore e faon stferm gfshan & <R foran ST aer sTehe
FME?

(1) i & ®9 | sfehed (2) siferH & foT streReH

(3) AETH 1 3Tkl (4) Aferm H SR

fgdiar AT T e § U AU A T € o9 7 W snfedl RemifEn gAnlt | 36 9R 39 e
(Thite) widr SR et fof fau U foskedl & 9 W& SR R 9 o |

M WIS I 3299 Tomnfelt i 59 A s © o

(1) @ReF IR g9 T U8 Tl 3w fman S|

(2) TR W TS I FA0

(3) Tomnfei w1 @Rl H Harwd foRan S

(4) foem famgsli =1 e favero foran S|

o e | Tefadt o 9N H w2 wd e ¥ 2

(1) TeAfaar fgdtar oo erefq it gk 1 Tugm o Heg il €
(2) TeAfcEr o stferma wfhear B erediy Yey et ®

(3) TTafaEr s g3 T Bt § SR eiferm H weg et §

(4) TTAfGET e SAfRTH UfhAT 1 Heequl TR §

WHN foemea &t eteanfusht dar |raal e & faenfo &1 TSt M & fou gwa U 3iR v e
faardt g1 dar e & fora fagra w1 STaTe #R W@ § 2
(1) S 9 Frergd 1 fagr (2) Tk gfshan 1 fEgT=

(3) oW AR oTca i o fagra (4)  ARERON IR w9 W faga
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143. IS o7&l gt wfhan (29 S8A) 9N § o Oel TE © 2
(1) G 9T Sl Y& g 1 Y FAT & STawdehdl §
(2) G A 79 gd 99 W R g ¥

(3) A A S AT TTEd € SHh 9N B STAM T §

(4)

4) G el GER % o) H YT FH R FE A §

144. o fremor & fow yfafes ssm & 219 arelt At sl Y= ST -1 HEeldl © 2
(1) IS | (2) ot aEqy (Tafern)
(3) W EA (4) Toraror wredt

145. Frafafed § & oH-9 o w&r €2

a) TS dehed (fewifoman) 9o fawr 1

b) oRed dohed (Tediftran) orem fosr %)

) uEd dwed (fedifFan) wed faar 7

d) TS deea (fewifoman) e fasr 71

1) (c) 3R (d) <M et § (2) Had (a) TE

3) Had (b) 3R (d) W (4) (a) 3R (b) SHT W €

o~ o~ o~ o~ o~ o~

146. TEATHS 3THhEH o fAT HIFA-TT IR ITIH & < 2
(1) &l GRART (2)  Usd wi @) fafed adan (4) afEsE

147. ‘' forenfef =1 wgg el wfEe faern =ifew iR Tafaar 33 o & e € fw sifrm @ wr g1 uw
foraeh g STvifea § 2
(1) THAfOREUERT  (2) HeRRaN! (3) WIAHbAG  (4) AT

148. HIFA-T1 YRV THHHE TR Acahiicish STTered fRefon sTaeRi i Suetsud <t § ?
1) Teee (2) HEIYEh (3) YeEen foke (4)  elfasE

149. ST HIGHT fead el =@ STl & 2

(1) W& Ta (2) UEEH SHad (3) e wad (4) TFRE W

150. 39 o HT 1 F1 il o g el 0y € IR 3 godi 1 SuRd €2
(1) Iegard (2)  hardl! (3) SigwRel (Wed) (4) ToIm frwm

-00o0-
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SPACE FOR ROUGH WORK / % &t & foq sg
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

fereafaRad ferden B e A U -

1. The mannerin which the different questions are to be answered has been | 1. forr g A fafdrer geal & 3R U o € 33 avfer wdten
explained in the Test Booklet which you should read carefully before actually gﬁﬂ?ﬁ[ # feparm orm g, forY 31y Uea & ¥ ¢ A Uee! e A UG
answering the questions. il

2. Outof the four alternatives for each question, only one circle forthe correct | 2. TG U9e & U feU o0 IR fadedl & & I 3R & fav OMR
answer is to be darkened completely with Blue / Black Ball Point Pen on IRIT P T%-2 R &dcT U T B a uﬁ TG eAei/dTel dict Uigee
Side-2 of the OMR Answer Sheet. The answer once marked is not liable I Y| U R AT b B & q1e 37 deeT el o Fhdl
to be changed. 3

3. Thecandidates should ensure that the Answer Sheet is ngt folded. Donot | 3 gfereff g%r?@aa & 5 39 307 U9 ) A1E F 0 Ud W W aﬁ‘%
e S T St Svottefou Rlo. | o w3 | el e g e e

y P P P ' w1a & 3ifafvad s o ford |
4, I-!andletthe Test Bool:lfet :pd Answerlsgeetté/vm:(lc??das u:‘derbno 4 e Eﬁﬂ?ﬁf 0 3R T B WEK“L‘E T B, s et ot
oo Anones e oot ) ot somilvepoves | SRR 3 (ot wdr fiet o e 3 S a1 o
' ' fireetar @t Reifd &1 Bied?) 3 Tdten gRaed! uael ofé werel
5. The candidates will write the correct Test Booklet Code and Number as et
iven in the Test Booklet/Answer Sheet in the Attendance Sheet. , .
g 5. TleT YRsI/3ER U & U U wdlen gRde @is @ FA Bl

6. A machine \;vill read the coded ir;tformation in the OMR Answer Sﬁheet. yHenelt T& 9% I uRafy-uw #

Hence, noinformation should be left incomplete and it should not be different .

ot o 6. OMR 3% w1 3 Bk werw) 31 U wier vl |- gt i

rom the information given in the Admit Card. . . .
oft g siedt 7 BS SR TE YAU-u & & g g A faredt T

7. Candidates are not allowed to carry any textual material, printed or written, el TR
bits of papers, pager, mobile phone, electronic device or any other material o .
except the Admit Card inside the examination hall/room. 7. wdtenelf gr wdem 'E»'IFT/EE;%\T ﬁ TAA-T & %’dWN wﬁmﬁ TR B

. . o . o UIe-A1#N, Fied A SAARed, BT B U], Uer, Adrgd

8. Mobile phones, wireless cqmmunlcatlon devices (evgn in swnched .oﬁ B, sﬁ’c@ﬁ%{cﬁ Jueoer o R5oft 31 B 3 T @ o o A
mode) and the other banned items should not be brought in the examination AT BT 2 3 ey
halls/rooms. Failing to comply with this instruction, it will be considered as g ) . . )
using unfair means in the examination and action will be taken againstthe | 8. dIaTSel Bid, a?ﬂ? AR gﬁﬂ?ﬂ (R 3T 3razer & o) 3k 3=
candidate including cancellation of examination. yfoafed axqu Tten eicmer & 8 oTg ool aifeu | 3 Jgel H

9. Each candidate must show on demand histher Admit Card to the Invigilator. qﬁa ° ;E’ﬁ ng siq T i{;ﬁ Waﬂa\q 19T G ST 2

&I 35@' SITUIM, TRIGT g afeal

10. No candidate, without special permission of the Centre Superintendent or o 5 THenel. Rrfters @y s T
Invigilator, should leave his/her seat. 9. 933 w afredt, &ich I 3ATell YR !

. - . , 10. siefters o1 ferdteras ot faoiw srgqafa & foem &g wotemeft

11. The candidates should not leave the Examination Hall/Room without handing iﬁ é B | K g § wi
over their Answer Sheet to the Invigilator on duty and sign the Attendance el eTel o SIS )

Sheet twice. Cases where candidate has not signed the Attendance Sheet | 11. & 33 fordieres &1 3T 3a¥ U7 ieu faen va uRefe-ua W gdR
second time will be deemed not to have handed over the Answer Sheet and gxrery fopu faem utemelt wdten alc/mer @ w1 afe feedt
dealt with as an unfair means case. The candidates are also required to Terelt o a(:m“r IR JuRefa-usr W gxder 98 fu, @ I8 AN
put their left hand THUMB impression in the space provided in the SO R 39 3T U o ailery § 3R g 3@1%‘3 Jled BT
Attendance Sheet. HIHCT e ST | Tl 3rae Ty arer 3 3oy ot ferermer sufarfar-

12. Use of Electronic/Manual Calculator is prohibited. 5 & U 910 9 TR 319 v |

13. The candidates are governed by all Rules and Regulations of the Examining | 12. Sciagiierb/gacalicla URGed &l Juair afeid &1
Bodyw'ith regard to'theirconducFinthe Examination Hall/Room. Allcases | 13, qdter &fa/@ar # 3TV & fow gotemelf uteror wfwem & waft
Ef unf.allr m%ands will be dealt with as per Rules and Regulations of the forra ud et gy erafbra B 3@%‘?[ e B Toft AT BT

xamining Eody. el T e & et v R & areEw

14. Np part of the Test Booklet and Answer Sheet shall be detached under any 14, T5adY oft oNNafy & wden Eﬁa-ﬂ 3 T T F Elﬁ'sf HTOT 37T
circumstances. el

15. On completion of.tITetest,. the candidate must hand overtl?e Answer | 45 THen T A R, wdemeff ara/mer Eﬂg?r A qgf I 73 erdlere
Sheet to the Inwgllator. in the Hall / Ro.om. The candidates are P s AT | gdemel 399 T 57 7 gﬁ?ﬂ:‘l o & o7 TB
allowed to take away this Test Booklet with them. ¥
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